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General Instructions :

(®)

(1)

(iii)

(i)

(v)

(v)

Question paper contains 37 questions. All questions are compulsory.

Question paper comprises six Sections— A, B, C, D, E and F.
Section A — Question Nos. 1 to 20 are MCQs of 1 mark each.

Section B — Question Nos. 21 to 24 are Very Short Answer Type
Questions, carrying 2 marks each. Answer to each question should not

exceed 40 words.

Section C — Question Nos. 25 to 29 are Short Answer Type Questions,
carrying 3 marks each. Answer to each question should not exceed 60

words.

Section D — Question Nos. 30 to 33 are Long Answer Type Questions,
carrying 5§ marks each. Answer to each question should not exceed 120

words.

Section E — Question Nos. from 34 to 36 are Case Based Questions with

three sub questions and are of 4 marks each.

(vit) Section F — Question no. 37 is Map based, carrying 5§ marks with two

parts, 37(a) from History (2 marks) and 37(b) from Geography

(3 marks).

(viii) There s no overall choice in the question paper. However, an internal

(i)

32/1/1

choice has been provided in a few questions. Only one of the choices in

such questions have to be attempted.

In addition to this, separate instructions are given with each section and

question, wherever necessary.
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wUE - % (20 x 1 = 20)

(Sgfereredta 99)

1. SHfET % w5y 6 fefefiga faewast o1 39 g5 & gy fiem fifse st g4
Trehed o1 T3 il

NG e
a. g SNk I wEel
b. -V Hed II. e 6l dam
c. THWA f I ATl III. wifs
d. deER IV. 3eiel fremn
forepea

a b ¢ d
A I I IIr Iv
@ I1Iv III 1 1II
C I 1 1v 1III
D) I 1v 1I 1

2. frafaRea 4 @ =9 @1 yge] . 3. et 3§ . quTETt ARre % oie § THH
o 7

(A) YRA § STfq-oTeeql W @@ forg T |

(B) Tfgetati & Sual 9T YehTel SToHT |

(C) HT=hfeh foRTHd % TR H SFTEhAl SHT |

(D) WA ol ITeh! TR Tad=Idl o foTt Iftd T |

3. fom=fafaa 4 9 foram i@ | ygdt ogT 31 SeqTa S <Al € aoHT <6 ?
(A) I.IRE. A

(B) GRNIH T
(C) IR, =&

(D) orpterH
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SECTION - A
(Multiple Choice Questions) (20 x 1 =20)

1. Match the following attributes of allegory of Germania with its

significance and choose the correct option : 1
Attributes Significance
a. Broken Chains I. Heroism

b. Breast-Plate with eagle II. Readiness to fight

c. Crown of oak leaves ITII. Strength
d. Sword IV. Being free
Options :
a b c d
(A) I IT 111 v
B) IV 111 I II
(C©C 11 I v 11
(D) III v IT I

2. Which one of the following aspects was common between the writings of
B.R. Ambedkar and E.V. Ramaswamy Naicker ? 1

(A) Wrote on the caste system in India
(B) Highlighted the experiences of women
(C) Raised awareness about cultural heritage

(D) Motivated Indians for their national freedom.

3. Who of the following set up the first Iron and Steel industry in
India ? 1
(A) J.R.D.Tata
(B) Purushotam Das
(C) R.G. Saraiya
(D) Thakur Das

32/1/1 {5 > E‘%’E P.T.O.



4. fr=faRea = ST wu § =afer Hife i gt faewme &1 =9 FHif
I Sicd g8 are B ST=gH GgTehly <hl T |
1. i wieat 3 fir agl o < g fovagg foer |
I11. <R fmfar &7 wiE 3, Seared & fo s o wgfa’ & 3T |
IV. ofee sreferawensii 3 e &l ‘G-77 Tqg’ % &9 & "rfsd o |
forereu
(A) IIL II, 13RIV
B) I, IL III3WIV
(C) IV, III, II3mI

(D) IV, II, III 31

5. TrAfaRad SeRI 31 S8 § BHA i T8 hINT 3R TE foehed w1 == HIfT :
o % E( TEH HEW@U S I HHA 2 |

e TWWHEHAR |

o TH I % foTu 33 HiEm 3R ek o ford Raeft gu <t smmarwrerar gt 2 |
o 3T 7T 50 & 75 cm aTfieh Tt Y TawEHaT B R |

forereu

A M

(B) TE

(C) =rad

(D) T
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4. Arrange the following in chronological order and choose the correct option : 1

1. The Bretton Woods conference established the International

Monetary Fund.
II. The Second World War broke out between the Axis and Allied
groups.

III. A car manufacturer Henry Ford adopted the ‘Assembly Line Method’

for production.

IV. The Western economies organized themselves as a group — ‘The
Group of 77.
Options :

(A) IILII,Iand IV
(B) I IL I and IV
(C) IV,IIL Il and I
(D) IV, IL I and I

5. Identify the crop with the help of the following information and choose the

correct option. 1

. This is the second most important Cereal Crop.
. This is a Rabi crop.

. It requires a cool growing season and bright sunshine at the

time of ripening.

. It requires 50 to 75 cm annual rainfall.

Options :
(A) Wheat
(B) Maize
(C) Rice

(D) Sugarcane

32/1/1 1> E‘%’E P.T.O.



6. Trmforfaa usal @ & fopam qrwgy o R @ 2
(&) dfEerTg
(B) A
(C) 3Ty v
(D) HAieh

7. FreAfoRen & H o W gifer 2 7
(A) VellgHer — T 1 HeH
(B) wrefiga - fewem &
©) yhuer - g EwR
(D) AT — TEEIAT &

8. fom=feriga 2wt § & fopuehl ‘S o g GuTfer 31y Tarieres 8 ?
VLIS
(B) dieiew
(C) wrd
(D) OIRETH

9. fr=ferRaa deermi 6 & S A1 YR § U Haeht 3Tfehs IUcisd a1 g ?
() T wifereh e
B) i
(O) T gET by
(D) Ik FaT IR
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6. In which of the following States Tungabhadra Dam is located ? 1
(A) Tamil Nadu
(B) Kerala
(C) Andhra Pradesh
(D) Karnataka

7.  Which of the following pair is correctly matched ? 1
(A) Alluvial Soil —  Gangetic Plain
(B) Black Soil —  Himalayan Region
(C) Arid Soil —  Western Ghats
(D) Laterite Soil —  Desert Area

8.  Which of the following countries has the highest ‘Life Expectancy’ at the

birth ? 1
(A) Nepal (B) Bangladesh
(C) India (D) Pakistan

9. Which one of the following organization is providing data regarding

employment in India ? 1
(A) National Statistical Office

(B) Niti Ayog

(C) National Informatics Centre

(D) Public Service Commission

32/1/1 {9 > E‘%’E P.T.O.



10. fr=fafad & & = @1 sgugh Sut % foe v yg@ oy ], 9 98 U T S
T HYh ScATE T hIH Hicl ] ?

(A)  TgUER o, TIT Huft o |1 TfiaH dehieh aTe Ll B |

(B) wEUEH Ut Icuted o aft UTEet 3T Hmd 7 Ll B |
(C) wEUEHR Hut Ut HEATA ifel sl T ST < T1e AT LAl B |

(D) < EULHR Hut T Hufr o =1 3T 3R qTiETies Ty S 2 |

11. frafifed § & = o e g 2 7
(A) wuftes &5 —  TEIW
®) fafow s - ol
(C) T &h  — bl R

(D) =g &% — =

12. 94 <hifse fe we &3 4 9/ qfEr 2 3 s9h 71 3™ 10,000, T 20,000,
% 30,000 3R T 40,000 & ot & 61 3w 311 fehat arft ¢ f & @ wet foehed g -

(A) % 25,000
(B) % 30,000
(C) % 20,000

(D) % 10,000
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10. Which one of the following is a major benefit to an MNC when it works on

joint production with a local company ? 1
(A) MNC shares its latest technology with the local company.

(B) MNC decides all parameters and prices of the product.

(C) MNC shares its institutional policy with local company.

(D) MNC built good and familial relations with the local company.

11. Which one of the following pair is correctly matched ? 1
(A) Primary Sector — Fishermen
(B) Secondary Sector - Priest
(C) Tertiary Sector - Basket Weaver

(D) Quaternary Sector Gardener

12. Assume there are four families in a locality. If the monthly income of each
family 1s ¥ 10,000, ¥ 20,000, ¥ 30,000 and ¥ 40,000, then what is the
average income of the locality ? Choose the correct option from the

following : 1
(A) 25,000
(B) ¥ 30,000
(C) % 20,000

(D) % 10,000
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13. hIdl Ush T | R il 2 | 98 Fafid &9 8 wdd & 37/d 8 aad IH dl 8 | ddd
JTSTET 30 TR g Ferifia et & s giaemd fierdt € |

i fFrfetfad o & form & § R ST R 7
(A) Tfa &
(B) 3r@Tiad &k
(C) e &=k
(D) =g &b

14. Tr=faRed § 9 9 |1 30 &1 sig=ni @a g ?
A) fder
B) I

(C) HEHR
(D) ugwrl Afafa

15. oal s gear W feferlea swemt w foam hifse it a8t faswed 1 == hifs
I. g cliohdd <l Holgd Hidl 8 |
II. 38 | THE! o st Toy ol HH HLAT 2 |
1. =g Us-ifae ferar = glhfea s g |
IV. I8 el & o ammferes — 3mfefes e ofmar 2 |
ferepeu
(A) I, II 3R III
(B) II, ITI 3 IV
(C) I, III3RIV

D) I II3RIV
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13. Kanta works in an office. She gets her salary regularly at the end of every
month. In addition to the salary, she also gets other benefits laid down by
the government.
In which of the following sector Kanta is working ? 1
(A) Organised Sector
(B) Unorganised Sector
(C) Primary Sector
(D) Quaternary Sector

14. Which one of the following is a formal source of credit ? 1
(A) Relative
(B) Trader

(C) Money lender
(D) Cooperative Society

15. Consider the following statements on Power Sharing and choose the
correct option : 1

I. It deepens democracy.

II. It helps to reduce conflicts among social groups.
III. It is a way to ensure political stability.

IV. It brings socio-economic struggles.

Options :

A) I, ITand III

(B) II, IIT and IV

(C) L IIT and IV

(D) T, 1 and IV
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16. = g e, Afipud (A) 3R %RoT (R) few w & | et =l ufgu 3R a8t fasmed @
Wﬁﬁﬂl:

atlreRem (A) : T Alshd T STCATR |

HRUT (R) : AT TiTfereh Arfier w1 foedr o6t 2 |

fremea

(A) (A) 3 (R) gl =&l € 3 (R), (A) A ot e 2 |
(B) (A) 3R (R) gl &l €, W (R), (A) %! el =Te & 2 |
(C) (A) =&t 2, Afeh (R) T 2 |

(D) (R) Terd &, <ifehd (A) WE1 § |

17. T¥-A 3 T9-B =1 fiyem hife 37t a2 faenes o1 ==a hifs

wWH-A w9 -B

(o) (Tt / Forer)
I 1. e
. g 2. wEEH
11, foaE 3. TAgH
IV, PR 4 e fow

A 4 3 1 2
B 3 4 1 2
©) 4 1 3 2

O 2 3 1 4
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16. Two statements are given below as Assertion (A) and Reason (R). Read

the Statements and choose the correct option :

Assertion (A) : Elections are the spirit of democracy.

Reason (R) :

Options :

(A)
(B)
(©)

D)

17 Match Column — A with Column — B and choose the correct option :

Both (A) and (R) are true and (R) is the correct explanation of (A).

Elections expand Political participation.

Both (A) and (R) are true, but (R) is the not correct explanation of (A).

(A) 1s true, but (R) is false.

(A) 1s false, but (R) is true.

Column - A

(Subjects)
I.  Defence
II.  Police
III. Marriage
IV. Computer Software
Options :

I IT 111
A 4 3 1
B 3 4 1
© 4 1 3
D) 2 3 1

32/111
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Column - B
(List/Subjects)
Concurrent List
Union List
State List

Residuary Subjects
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18. fr=fetRaa & & i &1 THIel favd o TR 1 qad AR T €9 7 7 1
(A) THTITE ThR
(B) Eaefes Teiaa
(C) &I THR

(D) AThdifeh TLHR

19. = g e, SAfipea (A) 3R #RoT (R) few mw & | et =l ufgu 31t a8t faehew @1

= HITT : 1

aifirmem (A) : gfrn & fafira fowel o wfgamd wmfoa g3 siv amm sifueri & fo stgem
TR |

HNOT(R)  : W&l & AT 1 38T ARG T TTETNEh St § it FH=ar o1
21

ferepea

(A) (A) 3 (R) <H1 781 € 31 (R), (A) 1 9 e 2 |
(B) (A) 3R (R) &1 &l &, Wg (R), (A) 1 Tl A T 2 |
(C) (A) T&l 8, Wfhd (R) TeTd 2 |

(D) (A) TeTd B, wifehd (R) HE 2 |

20. Treferfiaa 5 @ o |1 AT qiiEie Sl | Hefid T 8 7 1
&) foars
(B) g @
(C) forwa
D) fo=
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18. Which one of the following is the most popular form of government in the

contemporary world ?

(A)
(B)
(©)
D)

Dictatorial Government
Constitutional Monarchy
Military Government

Democratic Government

19. Two statements are given below as Assertion (A) and Reason (R). Read

the statements and choose the appropriate option :

Assertion (A) : Women in different parts of the World organized

themselves and agitated for equal rights.

Reason (R) : Women’s movement aimed at equality in personal and

family life as well.

Options :

(A)
(B)
©)
D)

20. Which one of the following matters do NOT deal with the ‘Family Laws’ ?

(A)
(B)
(©)

D)

32/1/1

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true, but (R) is the not correct explanation of (A).
(A) 1s true, but (R) is false.

(A) 1s false, but (R) 1s true.

Marriage
Adoption
Inheritance

Finance

@ %%% P.T.O.



21.

22.

23.

24.

25.

26.

Qg -@ (4x2=8)

(ctfa erg-sw i weA)

(a) FUIH TATETG hl HTER( e ST & €9 H ST hIT | 2
AU

(b) 1848 H T o Thigeh TR o TUHAI hl AT 3T HMHIH Torad & ded o

SRS HIfT | 2
[T Y i fopgl 1 feranati o1 Seer@ I | 1x2=2
forgl 2 TTaUTl shl SaTEdT hITT S WA i Teh Y08t U5 &1 2 | 1x2=2

ST Shifor foh 3119 7m0 wa@ & | fongl gt fafafert w61 gema §fe St s1aes! & 8

for TenfERT <t 31 we™ o T fopu ST =fRw | 2
[ ug — T (5 x 3=15)
(FTg—3TIia 99A)
199 STaTec) o SR WA § TfHeh GUT T GE0T TERhI o SWTE] oh! ARG HITVT | 3

T TRl 3 Serdreiieh TN i fohd TehR SvTiaa fepam & 7 Tom i | 1x3=3
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SECTION - B

(Very Short Answer Type Questions) 4x2=28)
21. (a) Explain Romanticism as a cultural movement in Europe. 2
OR

(b) Explain Frederic Sarrieu’s dream in the context of democratic and

social republics in France during 1848. 2
22. Mention any two features of Plantation agriculture. 1x2=2
23. Explain any two provisions that make India a secular state. 1x2=2

24. Imagine that you are the village Head. Suggest any two activities that you

think should be taken up to increase the income of the villagers. 2
SECTION - C
(Short Answer Type Questions) (5x3=15)

25. Explain the implication of print culture on the religious reforms in India

during 19th century. 3

26. How has Information Technology affected Electronic Industry ? Explain.

1x3=3

32/1/1 E‘%’E P.T.O.



27. ‘fashra <t grofirdT < Te W i T fashr sl ufsR W whE 9T e 33d @ | 3greton

afed sare i | 3
28. TSIk €1 o Tehal i sh1at bl s shifeu | 1x3=3
29. (a) WRAE e S & fhgl i I ol T8 I | 3

AU
(b) I © TR I TS H5T o Hag H ofhi shi yfirehT shi = Hif | 3
Qug - (4 x 5=20)
(Srd-3w" TeA)
30. (a) WA hi 3MTRieh 3R Temifaes feafa W wuw foava g o wumEi o1 faveryo Hifs | 5

(b)

31. (a)

(b)

32/1/1

JAYA

191 Tt o 3nRex & wRa § UgaTe o forehtd | wiehehenaat 3T eitehi <hl fireht
feroeror Hifv | 5

weT iEe o He s foee 3 g9 onfqa € | s R Rl AmETa e | B

AYA

“Ogsh URaE 1ot URas <l 31ueT 1M GiaeameHe & |7 38 HH i T
TE | 5
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27. ‘The question of sustainability of development raises many fundamentally

new issues about the nature and process of development.” Explain it with

examples. 3
28. Explain any three functions of Political Party. 1x3=3
29. (a) Explain any three functions of the Reserve Bank of India. 3
OR

(b) Explain the role of banks with regard to money which they accept

from the public. 3
SECTION - D

(Long Answer Type Questions) (4 x5=20)

30. (a) Analyse the implications of First World War on the economic and

Political situation of India. 5
OR

(b) Analyse the role of folklore and symbols in the revival of nationalism

in India during late 19th century. 5

31. (a) ‘Efficient means of Transport are pre-requisite for fast development.’

Justify the statement. 5

OR
(b) ‘Roadways have an edge over Railways.” Justify the statement. 5

32/1/1 {2 > E‘%’E P.T.O.



32. (a) ‘0 g | diehad o foeR & foTu Wil wmeln @ 1 59 e Y Sgren dfgad gfE
HIT |

AYA

(b) “<lrepaa @t gmTioes -3l 3 TorHifoes THE3T T THTEH L Tehal & |7
Teht Afed 39 HoF i g Hifu |

33. (a) YR H TSRO & JHTE o fagaiwor i |
Jreran
(b) TRt o fysqer S o dltent o1 fergetsor Hifv |

T E - T B x4=12)
(SRE STeniE 9e)

34. few T i ufeu 3R g A= fow gl 1 3o fafag
FEgat o o AR

T IUIRT U1 A 1 Teh dlient fagoHl &1 8 | S91 fop 319 SHq 2, fasmo fafi=
IcuTel ! Sl 3 AT ST & B | 9 ST o) T weet & 8 S ot shed et o
24 2 | 1 g Uk Ul gl 7 ¥ ol wRi e fsee o gu | sreeri, gt
Bifdm, G, eefifast & e W, ge wg fommom Bie gu # | wife 3R gn siogm o
I8 et o€ dl Ul =otar 3 o sftenfientor Y seama @ & fommoat 3 fafte saei &
TSI <l oA H 37 weh =it Susieht Teapfa T | 3roeft wiftrent famé 2 |

e ATeet & JEmuferl 3 WiRd # ShueT SeT & FhAT dl  huS o gl W eleel ol
d | I T WIS I8 BIAT T o6 WG 1 U1 1 19 9 IcdTe shl S8 Udl IeA STl
oft | oiaet & <l 6t e 1 Wi oft o1 | W TRl Sleet WoHR el # Bs 3
Taeet foran fetg aan ot wiieri w1 wuer @lied o et atg 1 et T8 war v |

(34.1) 3TUSTH gRI YRA | I&q31i o1 s foper wepr fopan Stram e 7
(34.2) 3NufATTh W & A foRIT=T o ATEaq & 9T ITHRRT HE o 7
(34.3) 3T o S Tl o Aream 9 feu e Hesn <t =men i |
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32. (a) “There is an overwhelming support for the idea of democracy all over

the world.” Support the statement with examples. 5

OR
(b) “Democracy can address all socio-economic and political problems.”

Support the statement with arguments. 5

33. (a) Analyse the impact of globalization in India. 5
OR

(b) Analyse the ways to make globalization fair. 5

SECTION - E
(Case Based Questions) Bx4=12)
34. Read the given case and answer the questions that follow : 4

Market for Goods

One way in which new consumers are created is through
advertisements. As you know, advertisements make products appear
desirable and necessary. They try to shape the minds of people and create
new needs. Today we live in a world where advertisements surround us.
They appear in newspapers, magazines, hoardings, street walls, television
screens. But if we look back into history, we find that from the very
beginning of the industrial age, advertisements have played a part in
expanding the markets for products, and in shaping a new consumer
culture. When Manchester industrialists began selling cloth in India, they
put labels on the cloth bundles. The label was needed to make the place of
manufacture and the name of the company familiar to the buyer. The
label was also to be a mark of quality. When buyers saw ‘MADE IN
MANCHESTER’ written in bold on the label, they were expected to feel
confident about buying the cloth.
(34.1) How was the marketing of goods done in India by the British ? 1

(34.2) How were the new consumers created through advertisement
during colonial India ? 1
(34.3) Identify the messages conveyed through advertisements during

industrialization. 2
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35. Read the given case and answer the questions that follow : 4

CONSERVATION OF ENERGY RESOURCES

Energy is a basic requirement for economic development. Every sector of
the national economy — agriculture, industry, transport, commercial and
domestic — needs inputs of energy. The economic development plans
implemented since independence necessarily required increasing amounts
of energy to remain operational. As a result, consumption of energy in all
forms has been steadily rising all over the country. In this background,
there is an urgent need to develop a sustainable path of energy
development. Promotion of energy conservation and increased use of
renewable energy sources are the twin planks of sustainable energy. India
1s presently one of the least energy efficient countries in the world. We
have to adopt a cautious approach for the judicious use of our limited
energy resources. For example, as concerned citizens we can do our bit by
using public transport systems instead of individual vehicles; switching
off electricity when not in use, using power-saving devices and using non-

conventional sources of energy. At last “Energy Saved is energy produced”

(35.1) Why is sustainable energy a key to sustainable development ? 1
(35.2) Why is consumption of energy rising in all over India? 1
(35.3) Explain ‘Energy saved is energy produced’. 2
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36. Read the given extract and answer all questions : 4

DECENTRALISATION IN INDIA

When power is taken away from Central and State governments and
given to local government, it is called decentralization. The basic idea
behind decentralization is that there are a large number of problems and
issues which are best settled at the local level. People have better
knowledge of problems in their localities. They also have better ideas on
where to spend money and how to manage things more efficiently.
Besides, at the local level it is possible for the people to directly
participate in decision making. This helps to inculcate a habit of
democratic participation. Local government is the best way to realise one
important principle of democracy, namely local self-government.

The need for decentralisation was recognized in our Constitution.
Since then, there have been several attempts to decentralize power to the
level of villages and towns. Panchayats in villages and municipalities in
urban areas were set up in all the States. But these were directly under
the control of State Governments. Elections to these local governments
were not held regularly.

(36.1) Explain Decentralization in democracy. 1
(36.2) Explain the importance of Local self Government in democracy. 1

(36.3) Describe any two steps taken by Indian government for
decentralization. 1x2=2

SECTION - F
(Map Based Questions) 2+3=5)

37. (a) Two places (A) and (B) have been marked on the given outline political
Map of India. Identify them with the help of given information and
write their correct names on the lines drawn near them : 2

(A) The place where the session of INC was held in September, 1920.
(B) The place where Mahatma Gandhi broke Salt Law.
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(b) On the same outline Map of India, locate and label any THREE of
the following with suitable symbols : 3

(1) Hirakud Dam
(11) Tarapur Atomic Power Station
(111) Pune Software Technology Park

(iv) Paradip Sea Port

Note : The following questions are for Visually Impaired
Candidates only in Lieu of Q. No. 37. (5x1=5)

Attempt any five questions :

(37.1) Name the place where the session of INC was held in September,

1920. 1
(37.2) Name the state where Gandhiji broke Salt Law. 1
(37.3) Name the place where Salal Dam is located. 1
(37.4) Name the state where Tarapur Nuclear Plant is located. 1
(37.5) Name the state where Pune Software Technology park is located. 1
(37.6) Name the state where ‘Paradip’ Sea Port is located. 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
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(viii)

(ix)

(x)
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This questions paper contains 37 questions. All questions are compulsory.
This question paper comprises six sections — Sections A, B, C, D, E and F.
Section A — Questions no. 1 to 20 are MCQs of 1 mark each.

Section B - Questions no. 21 to 24 are very short answer type questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

Section C - Questions no. 25 to 29 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 60 words.

Section D - Questions no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

Section E - Questions no. 34 to 36 are case-based questions with three
sub-questions and are of 4 marks each.

Section F — Question no. 37 is map-based, carrying § marks with two parts,
37(a) from History (2 marks) and 37(b) from Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Questions) (20x1=20)

Which one of the following ideologies were the European Governments
driven by after the defeat of Napoleon in 1815 ?

(a)  Socialism

(b)  Conservatism

(c) Liberalism

(d) Romanticism

3> B P.T.O.
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2. Choose the correct option from the following regarding Central Powers in
the First World War :
(a)  Germany, Austria-Hungary and Ottoman Turkey
(b)  Britain, France and Russia
(c) Italy, Japan and Russia
(d)  France, Austria-Hungary and China

3. In which one of the following countries was ‘mass production’ an
important feature in the 1920s ?
(a)  United States of America (b)  Poland

(c) France (d) Japan

4, Look at the picture given below. Identify the name of the senior
litterateur shown in the image and choose the correct option.

Options :
(a) Ram Mohan Roy (b) Raja Ravi Verma
(c) Lakshminath Bezbaruah (d) Gangadhar Bhattacharya

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 4.

Who among the following is the writer of ‘Gulamgiri’ ?
(a)  Dr. B.R. Ambedkar (b) E.V. Periyar
(c) Jyotiba Phule (d) Ram Mohan Roy
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Which one of the following soils develops in an area with high

temperature and heavy rainfall ?
(a) Red and Yellow (b) Black
(c) Alluvial (d) Laterite

There are two statements given as Assertion (A) and Reason (R). Read

both the statements and choose the correct option.

Assertion (A) : Agriculture and industry move hand in hand.
Reason (R): Industrial development is a precondition for eradication of
unemployment and poverty from the country.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Match Column I with Column II and choose the correct option.

Column I Column I1
(Port) (Type)
1. Kandla 1. Riverine port
ii.  Mumbai 2.  Deepest landlocked port
iii.  Visakhapatnam 3. Biggest port
iv. Kolkata 4. Port developed after
independence
Options :

(a) 1—-4,ii-3,iii—2,iv—-1
(b) 1i-2,ii—-1,iii—3,iv—4
(c) 1-2,i1—4,111—1,iv-3

d i-1,ii—-2,iii—4,iv—-3
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8. There are two statements given as Assertion (A) and Reason (R). Read
both the statements and choose the correct option.

Assertion (A) : Belgium amended their constitution four times.

Reason (R): Amendments were to enable everyone to live together in
the same country.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

9. Which one of the following is an example of ‘coming together federation’ ?
(a) India (b) USA
(c) Belgium (d)  Spain

10. Match Column I with Column II and choose the correct option.

Column I Column II

i.  Union List 1. Agriculture

ii.  State List 2. Computer Software

iii.  Concurrent List 3. Banking

iv. Residuary Subjects 4.  Education
Options :
(a) 1-3,ii—1,ili—4,iv—-2 (b) 1i-4,ii-3,iii—2,iv-1
() 1-2,ii—4,iii—3,iv-1 d i-1,ii—-2,iii—3,iv—4

11. In which one of the following regions is the participation of women in
public life the highest ?

(a) Nordic countries (b) Arab states

(c) European countries (d)  Asian countries
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Which of the following States is ruled by a regional party ?
(a) Haryana (b) Madhya Pradesh
(c) Odisha (d) Rajasthan

Which one of the following countries adopted multi-party system ?
(a) USA (b) India
(c) China (d)  United Kingdom

Choose the correct option to fill in the blank.

For comparing countries, their is considered to be one of the
most important attributes by the World Bank.

(a)  Education (b)  Income
(c) Health Status (d)  Living Standard

Study the given table and answer the question that follows :

Some data regarding India and its Neighbours for 2019

Country Gross National Life Mean Years | HDI Rank
Income (GNI) per | Expectancy | of Schooling | in the world
capita (2011 PPP $) at birth of People (2018)
aged 25 and
above
Sri Lanka 12,707 77 10-6 73
India 6,681 69-7 65 130
Myanmar 4,961 67-1 50 148
Pakistan 5,005 67-3 52 154
Nepal 3,457 70-8 5-0 143
Bangladesh 4,976 72-6 6-2 134

Which of the following countries has the highest level of ‘Human
Development Index (HDI) ?

(a) India (b)  Bangladesh
(c) Sri Lanka (d) Nepal

1> B P.T.O.
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feafafga wgh ofeam 1wl 9 SNU=Tieh &9 © SRUT R AfUehdH

gfeerd ITed hidr g ?
(a) TR 9ER (b) HH INHYMNT Tl IR
(c) HHg INaR (d) R &R

frfaiRaa o & iH-et dveietor i T gHidl 8 ?

(a) ¢ SR d 9gd

(b) 8 Ui T Ugd
(¢) STy wdff g

o

(d) SIgUEH g B




16. Natural products being changed into other forms is known as :
(a)  Primary product (b) Secondary product

(c) Tertiary product (d) Quarternary product

17. Which one of the following is a feature of the unorganized sector ?
(a)  Terms of employment are regular.
(b)  People have assured work.
(c) They have some formal processes and procedures.

(d)  There are rules and regulations but not followed.

18.  Which one of the following is the modern form of currency ?
(a)  Paper notes (b) Gold coins

(c) Silver coins (d) Copper coins

19. Which one of the following categories of urban households take the

highest percentage of loan from the formal sector ?
(a)  Poor households (b) Households with few assets

(c) Well-off households (d) Rich households

20. Which one of the following is a challenge of Globalisation ?
(a)  Access to New Markets
(b)  Access to New Talent
(c) International Recruitment

(d)  Disproportionate Growth

32/2/1 13> e P.T.O.



21.

22,
23.

24.

25.

26.

27.
28.
29.

30.

31.

32/2/1

Qs @

(erfar wrg-3wia wew) (4x2=8)
(%) 32l o YW ol TEhishd A AT QI o qcaehdl J&d Wil el hl
fHehT w1 forgersor it | 2
aroran
(@) IHEEl aed o GRE T § IERATET TS oh i i W@ hiftee | 2
A | gt |evn o fofe fohegl g 3Umi o1 germa G | 2x1=2
1956 § ficiehTs A shl TSI T &G T3 ? TISE hITT, | 2
“Srur iR i UHY qifedfa O gehet <ar B, S8l & STet et 1l Heeedeh
2 1” 39 %Y il W@ FHIfu | 2
wWUE T
(erg -3 I ) (5x3=15)
(%) 09 H ggur fopd TR Stfedea § IR 2 e i | 3
HAAAT
(@) foramei deh 9g= HAEM BH ¥ fFH TR dgd i Th 3 G&hid forhfed
TS ? AT T | 3
“Tat gt fspameRemdl @ fofu STmavTe 3 1”7 3W oM Sl IS Afgd SATE
I | 3
YId § Higeredl shi TeRdl @€ 9gH & i 3T sy | 3x1=3
Tt g fgdiees &ser 4 Iegon afgd 37t Tase hifag | 3
YA § T & o 9¢d g shl W@ i | 3
wus ¥
(Srd-3wrim o) (4x5=20)
(%) AT a1 JMEIAH H FaHRA it <hl fHehT &1 vy HivT | 5
HAAT
(@) Wi 73T TeieH | Aigaratt i fieht w1 foveror HivT | 5
(%) WRA H ARk SHifaept falg MR arfvifses iy i faemarsti i sawen
i | 2+3=5
HAAT

(@) WRA H e Skl @ U907 iy i ToRIvyarsti shi =& HifT | 2+3=5
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SECTION B

(Very Short Answer Type Questions) (4x2=8)

(a)  Analyse the role of Chief Minister Cavour who led the movement
to unite the regions of Italy. 2

OR

(b) Examine the ideas of liberal nationalism in Europe during the
nineteenth century. 2
Suggest any two ways to conserve wildlife in India. 2x1=2

Why did the feeling of alienation increase among the Sri Lankan Tamils
in 1956 ? Explain. 2

“Credit pushes the borrower into a situation from which recovery is
painful.” Examine the statement. 2

SECTION C
(Short Answer Type Questions) (6x3=15)
(a) How did print come into existence in Europe ? Explain. 3
OR

(b)  How did access to books create a new culture of reading ? Explain. 3

“Energy is required for all activities.” Explain the statement with
examples. 3

Suggest three steps to enhance the literacy rate among women in
India. 3x1=3
Differentiate between primary and secondary sectors with examples. 3
Examine the rising importance of the tertiary sector in India. 3

SECTION D

(Long Answer Type Questions) (4x5=20)

(a) Analyse the role of the business classes in Civil Disobedience
Movement. 5

OR

(b)  Analyse the role of women in Civil Disobedience Movement. 5

(a) Explain the features of primitive subsistence and commercial
farming in India. 243=5

OR

(b) Explain the features of intensive subsistence and plantation

farming in India. 2+43=5
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32. (%) 3 uifeyfan = faveryor FHifse fH drerdiies smem seedmd amtioren

fafayarsn & amere weanfia &t 2 | 5
HAAT
(@) 37 uitfeafn &1 favevo Hifse S0 Aepdaites e sgaEed anTiEn
hl TRAT 3R STTATET i FEET ot 3 | 5
33. (%) UL HUFAT fhH THR fawawl % IGT Sl Th-ge § ISl 3 ?
3280 Eigd Tqse iU | 5
HAAT
(@) faesft fraw & ida 0 & foiu o @ U= @Rl g fhe e
foregl 9 IuTl <hl AREAT hIfT | 5x1=5
Qus g
(SFE-ATATRE T ) (3x4=12)

34. feuww &a = ufer ok 3ue = fou 7w ywat & I fafaw .

g fava gg a6 shenfies faeem offmn @1 | g 7 o foogpa 8 feurfa
g = G ot | Tl wr@m & H1 FE@ B QU B U g gel
3CqTEH H 9%d 9 3AMIT WRA H H9<%et & AT I TG A &l &1 | ™
SN 1 TAd T faema it 9o e T | gg a1 fa=n a1 9
FR@H # off B9 & fou s & aifat, s & e adf & #ug, e ik
IUS % Id, Hig o = hl S AT FFd R 3T HHH S A | AT HREH
MY T | O HREM 3 el H I o | §gd J1 A 76U i HH T
T T 37 g I 9gal | ft ST 0 G M BT 9SdT AT | g o QA
e fier Icared asit 9 9Q |

g o 91¢, YA SR § D% i Ugdl arctl afed sl giiea T8l &l
Rl | g o SIG MY 7 L UM TR IR, THA T SIUH 6 Hhlaa
HHIAR I S o BT f51e hl STefeaaeen =iaqy T8 off | U HT ITE F5d
H T T AT IR fored & B et gt hue o i § seregsd fae o |
Jufasti # foeeft Icagi shi gerent T ST 4 Bie] SR 9 el

forem st ofR-eR srot fesfa astem &1 <t |
(34.1) YA H A= o HIA 1 AT HH T & 7T ? 1
(34.2) 9¥¥ fava g & 91 YA SR § BHAE Sl T8l dTell gradd &t

1 g 81 gl 918 ? 1

(34.3) YoM fava qg & wRA ! 14 aTel Tohegl 1 ot bt forwermor hifw | 2x1=2
[=13[=]
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32. (a) Analyse the conditions under which democracies accommodate

social diversities. 5
OR
(b)  Analyse the conditions under which democracies promote dignity
and freedom of citizens. 5
33. (a) How do Multinational Corporations (MNCs) interlink production
across countries ? Explain with examples. 5
OR
(b) Explain any five steps taken by the Central and State
Governments to attract foreign investments. 5x1=5
SECTION E
(Case-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

Yet, till the First World War, industrial growth was slow. The war
created a dramatically new situation. With British mills busy with war
production to meet the needs of the army, Manchester imports into India
declined. Suddenly, Indian mills had a vast home market to supply. As
the war prolonged, Indian factories were called upon to supply war needs:
jute bags, cloth for army uniforms, tents and leather boots, horse and
mule saddles and a host of other items. New factories were set up and old
ones ran multiple shifts. Many new workers were employed and everyone
was made to work longer hours. Over the war years industrial production
boomed.

After the war, Manchester could never recapture its old position in
the Indian market. Unable to modernise and compete with the US,
Germany and Japan, the economy of Britain crumbled after the war.
Cotton production collapsed and exports of cotton cloth from Britain fell
dramatically. Within the colonies, local industrialists gradually
consolidated their position, substituting foreign manufacturers and
capturing the home market.

(34.1) Why did Manchester imports decline in India ? 1

(34.2) Why could Manchester never recapture its old position in the
Indian market after the First World War ? 1

(34.3) Analyse any two benefits of the First World War to India. 2x1=2
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35. feu U @i i ufen it 3Hes = fou U ywAt & 3w fafEw .

T& RIS T 33T IAfhat AT 3k 32wl | fahad 81 91 W 7 |
IE Ueh fogsn &1 2 for S 9Ty arg e & fow a9 S1d 8 39 o |
dASe JHT 89 9 o o1¢ 37 AT U 99 JTd @ | Ak 91 g <kl eom d i
e 9y H} 3 IR 1¢ oo ¥ 39%d wd 8 | A Ul BN Tk 9§ 2006 H
HERTSe 3R oA § 9R 991 & SRE a9l ¥ I8 T I 6l g o 91§ h!
feufa ofit Wt faepe &1 78 | 34 SRl | 7 Shdd 9 AR ATA 1 THAW gAT
HUg F8q T W Ja1 ARG it g7 | 914 o JA W qASE FHT Bl hl 3
Iz i 2 foh 98 qoi@e S foh U Wi I @ 916 o HQMI d gl ugad]
ek s yfi fefieror i geemd sed! € | a8 ot 7 S @ o sg-seEiy
AT h RO oY T hi GHTEHT Ht g ATt g 3TN D A oh ITAT
H JA-SAq AT, BEaAi § HI-FHd SHINET 3 TGH0 HeAd @ |

(35.1) TG | ¢ IRASHT o fog 3T @1 A9 fifEe | 1

(35.2) 3TcAYh N1 B4 <kl <o § ARHh 92 o1y fhd IR a1¢ a9 §
A Ed & ? 1

(35.3) 9§33 A IS < fohrgl QI ATl o1 forweiwor HifT | 2x1=2

36. fau U wiq <t ufew 3t 3Hes = fou U ywAt & 3w fafEw .

TSTHideh el ol 3ed WfdH{dcd 9 TMUTRT SAlhdizeh sIaedqT & 3IHN
Y ST 3 | B9 UG gob & b 9 Tl o faw gfaffeea smufa dteras i
TEd B 3 | 99 TN 98 AR JAfed B Id § q9 3= fAafie gl W
IT-3TT Tl ol THed IR TWHR hl Tok H aH o fou Tl greem =
ToEt i S Bl 7 | Tt Seet @ ot wfafafert e wy i e
BId] 8 dTieh Teh SO TR o1 T3 8l Heh | 378 TLHT 1 THY 3 I7 3H
W AHY W@, Al sam iR A=l &1 gmeA sreen foig w6 & o
3K hl T Bt & | Ideh SfaHig-swer i td s i sed sl s,
TSI S 3 U hd & | 59 T &H g Hehd & 1oh TSN &al TAIehad
i T AHEE Td 2§ |
(36.1) ‘TarHIfaes g1’ o 319 ol TUse HfST | 1
(36.2) “TSifae Tt 1 3gu YfdfAfed W smeamia eehdites saaTe &% IUR

% 1Y ST 7 |7 38 heH i gfte il |
(36.3) TSIHIfdeh T A1 Alehdd <hl Teh ST 3@ § 2 Tse VT | 2
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35. Read the given source and answer the questions that follow :

Most of the objections to the projects arose due to their failure to
achieve the purposes for which they were built. Ironically, the dams that
were constructed to control the floods have triggered floods due to
sedimentation in the reservoir. Moreover, the big dams have mostly been
unsuccessful in controlling floods at the time of excessive rainfall. You
may have seen or read how the release of water from the dams during
heavy rains aggravated the flood situation in Maharashtra and Gujarat
in 2006. The floods have not only devastated life and property but also
caused extensive soil erosion. Sedimentation also meant that the flood
plains were deprived of silt, a natural fertiliser, further adding on to the
problem of land degradation. It was also observed that the multi-purpose
projects induced earthquakes, caused water-borne diseases and pests and
pollution resulting from excessive use of water.

(35.1) Name the movement against the river project in Gujarat. 1

(35.2) How have the big dams mostly been unsuccessful in controlling
floods at the time of excessive rainfall ? 1

(35.3) Analyse any two merits of multi-purpose river projects. 2x1=2

36. Read the given source and answer the questions that follow :

The rise of political parties is directly linked to the emergence of
representative democracies. As we have seen, large societies need
representative democracy. As societies became large and complex, they
also needed some agency to gather different views on various issues and
to present these to the government. They needed some ways, to bring
various representatives together so that a responsible government could
be formed. They needed a mechanism to support or restrain the
government, make policies, justify or oppose them. Political parties fulfil
these needs that every representative government has. We can say that
parties are a necessary condition for a democracy.

(36.1) Explain the meaning of a ‘political party’. 1
(36.2) “The rise of political parties is directly linked to the emergence of
representative democracies.” Support this statement. 1

(36.3) Why are political parties a necessary condition for a democracy ?
Explain. 2
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Qs

(wrfer witvTe seTfa uea) (2+3=5)
(%) WA T T Ao W@-AFES (I8 23 W), H & T&H A IR B
w9 | eye U g | fefafgd SHeel hl wErEar 9 39 98 AW 36
Trfig it 78 T@reti W fafe
i) o8 TH & fgoreR, 1920 U YRR TS il &1 AfyasH
g | 1
(i) 98 TIW Jal Alciaral S 9 88 | 1
(@) 9Ra & g UoHifae W@ramts @ Fefafgs @ @ 6 a7 &t
39 forel 9 guifse SR 3k A fofe 3x1=3
()  UST — IFAI THTAST TTeh
(i) SATSAT — TAE-3TEH hl @H
(iti) AR — TCATY sl T
(iv) gfegdn — @qgl aod
FHETfTRIT 97 @acT gIvaTaa qhermferal & forg go7 G&7 37 & € T
&/
feb=g7 el 7] & IR T | 5x1=5
(37.1) 3T TH &1 9m fafge St foarer, 1920 @ awedfim wsdm w09 &
HfaTH g3 |
(37.2) 39 TIM I AW fIRgC ST Afefaran svT = g8 |
(37.3) WA o ikl o fohelt Teh TY@ IcUTEh T ol A0 faRgu |
(37.4) 38 TSY 1 M faRgu S8T Jofse dig-3¥%h 6l @ 8 |
(37.5) 3| TSA sl 91 TIRGT &7 TR AT ol T fe3ra 2 |
(37.6) 38 ST o1 9 Toiftgu Siat gfeean aqg uoH i 7 |



37.

Note :

32/2/1

(a)

(b)

SECTION F
(Map Skill Based Question) (2+3=5)

Two places A and B have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the

lines drawn near them :

(1) The place where the session of the Indian National Congress
was held in December, 1920. 1
(i1)  The place where Jallianwala Bagh incident occurred. 1

On the same political outline map of India, locate and label any

three of the following with suitable symbols : 3x1=3
(1) Noida — Software Technology Park

(ii))  Bailadila — Iron-ore mines

(iii) Tarapur — Nuclear Power Plant

(iv) Haldia — Sea port

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37.

Answer any five questions. 5x1=5

(37.1) Name the place where Indian National Congress session took place

in December, 1920.

(37.2) Name the place where the Jallianwala Bagh incident occurred.

(37.3) Name any one major coffee producing state of India.

(37.4) Name the state where Bailadila iron ore mines are located.

(37.5) Name the state where Tarapur nuclear power plant is located.

(37.6) Name the state where Haldia sea port is located.






For question no. 37
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T T Ige] THH o ? 1

(a) a1 o fotu eafder TmmaT st | & |
(b) ufgaes & FHE W YT ST |

(c) UThideh forEd & IR H A& AL |
(d) vt B 3Rl TR ST o fore IR |

[=]#E =]
32/4/1 2 RE%;




=5 E
=

GENERAL INSTRUCTIONS :
Read the following instructions very carefully and follow them :

()
(ii)
(iii)
(iv)
v)
(vi)

(vii)

This question paper contains 37 questions. All questions are compulsory.

Question paper comprises six Sections — A, B, C, D, E and F.

Section A — Question no. 1 to 20 are Multiple Choice Questions of 1 mark each.
Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2
marks each. Answer to each question should not exceed 40 words.

Section C — Question no. 25 to 29 are Short Answer Type Questions, carrying 3
marks each. Answer to each question should not exceed 60 words.

Section D — Question no. 30 to 33 are Long Answer Type Questions, carrying 5
marks each. Answer to each question should not exceed 120 words.

Section E — Question no. 34 to 36 are Case based/Source based questions with three
sub questions and are of 4 marks each.

(viii) Section F — Question no. 37 is map skill based, carrying 5 marks with two parts,

(ix)

x)

32/4/1

37(i) from History (2 marks) and 37(ii) from Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice has
been provided in few questions. Only one of the choices in such questions have to be
attempted.

In addition to this, separate instructions are given with each section and question,
wherever necessary.

SECTION - A (20x1=20)
(Multiple Choice Questions)

Arrange the following in chronological order and choose the correct
option : 1

(I) Napoleonic wars
(IT) The Treaty of Vienna
(ITI) Greek Struggle for Independence

(IV) Slav Nationalism in Ottoman Empire

Options :
(@) HOIL I, Tand IV (b) LIIL Il and IV
(¢) IV, I, ITand I (d) IV, I, Il and I

Which one of the following aspects was common among the writings
of Kailashbashini Debi, Tarabai Shinde and Pandita Ramabai ? 1

(a) Demanded economic equality for masses.

(b) Highlighted the experiences of women.

(c) Raised awareness about cultural heritage.

(d) Motivated Indians for their national freedom.

3 Eﬁgj [P.T.O.
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el W Tz | Fafefaa foeredt @ @ w e i ugem fifv 1
(a) SR H JAT8 OELEIRCIH
(c) IS =1 YaTE (d) SrenfiE =1 warg
4. frafafea & @ fres T 3o & gor fen 2 1
(a) S AR (b) o TfeEd
(c) StHa Shepfer (d) ITIRIS FATHT
5. fr=fafaa @ e < 91g 1 3gEw 8 ? 1
(a) e (b) S
(c) wiedTEe (d) frere
6. TY-1 1 HAH TWu-2 ¥ HfS R T faes &1 ==  Fife 1
g - 1 g - 2
(wwer) (33TET)
D = 1. e
(1) =teRi™ 2. FA-S4a
(I11) srefrertofi 3. GR-IHel
ferepeq -
I II 111
@ 1 3 2
b 3 2 1
) 2 3 1
@1 2 3
7. Tmfafaa 9 @« gm wd fem 2 2 1
(a) SAG gar - far 3@ iR fiee Bt 21
(b) It ga1 - e wes 1 AEn S7d A Bl 2 |
(c) I 9a - Rraw foheecia AR o1 JOR 2T & |
(d) T gar - S ATeT AT & S B 7
8. TmfaRaa < # @ fordert wHa foshmd gk | Sea TIH & 7 1
(a) THMEAH (b) =IMER
(c) ¥ (d) e
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There were three important developments that greatly shrank the
pre-modern world. Identify the incorrect one from the following

options :
(@) The flow of trade (b) The flow of labour
(c) The flow of capital (d) The flow of technology

Who among the following improved the steam engine ?
(a) James Watt (b) Thomas Edison
(c) Benjamin Franklin (d) Alexander Fleming

Which one of the following is an example of the Ferrous Metal ?
(a) Copper (b) Tin
(c) Bauxite (d) Nickel

Match the column - 1 with column - 2 and choose the correct option :

Column - 1 Column - 2
(Resources) (Example)
(I) Biological 1. Coal
(IT) Renewable 2. Wildlife
(IIT) Non-renewable 3. Solar Energy
Options :
I II 111
(a 1 3 2
(b) 3 2 1
(c) 2 3 1
(d 1 2 3
Which of the following is correctly matched ?
(a) Alluvial Soil - Consist of sand and silt
(b) Black Soil - Salt content is high
(c) Arid Soil - Diffusion of iron in crystalline

(d) Laterite Soil Made up of Lava flows

Which of the following countries has better rank in Human

Development Index ?
(a) Afghanistan (b) Myanmar
(c) India (d) Nepal

3 &
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9. 9Ra # fr=fiRed &=k § @ ‘Tl TRe] I H foRaehl femet watfiss
27
(a) wnufieh
(RRFCIEED
(o) gt
(d) =g
10. ¥Rd SR 5 1991 H AR =41 1 IR F=41 =T 7
(a) whR fogeht ggr =il IR ggT o sRIeR ST TWEHT Aradt o |
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YR 2 |
(I1) 38k A9 o ToTu T=ft 37, deran 3R i Al 3 AvEE 2 |
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(IV) fawa <& Sfiaga & oEar & uR W oFa fasm @i bl Tan s
2|
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(a) I3l
(b) IIsmIII
(c) I3MRII
(d) IIsmIv
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9.  Which one of the following sectors contribute highest in the GDP of
India ? 1

(a) Primary
(b) Secondary
(c) Tertiary
(d) Quaternary

10. Why did the Indian government liberalize trade regulations in 1991 ? 1

(a) Government wanted foreign exchange equivalent to Indian
Currency.

(b) Government wanted to maintain good relations with Western
Countries.

(c) Government wanted Indian producers to compete in the World
Market.

(d) Government wanted to provide socio-economic justice to all.
11. Read the following statements about Human Development and
choose the correct option : 1

(I) It is the composite Index prepared by United Nations
Development Programme (UNDP).

(IT) Parameters to measure it are Longevity, Literacy and Per Capita
Income.

(IIT) Countries are ranked according to Developed and Low
Developing countries.

(IV) World Bank also prepares report of Human Development on the

basis of Quality of Life.
Options :
(@) TandIl

(b) IIandIII
(c) TandIII
(d) IMand1V

32/4/1 7 Egj [P.T.O.
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12. Read the following data and answer the question that follow : 1
Some comparative Data on Haryana,
Kerala and Bihar
State Infant Literacy Net Attendance
Mortality Rate Rate % Ratio (per
(per thousand 100 person)
person)
Haryana 30 82 61
Kerala 7 94 83
Bihar 32 62 43

How much is the Net Absence Ratio of Haryana ? Choose the
appropriate option from the following :

(@) 39 (b) 27
(c) 38 (d 18

13.  Which one of the following is a developmental goal of the factory
workers ? 1
(a) Better wages (b) Better technology
(c) More hours of work (d) More labour work

14. Which one of the following pairs is correctly matched ? 1
(a) Primary Sector - Flower Cultivator
(b) Secondary Sector - Milk Vendor
(c) Tertiary Sector - Fisherman

(d) Manufacturing Sector Gardener

15. Consider the following statements on Power Sharing and choose the
correct option : 1

(I) Majoritarianism is the real spirit of democracy.

(IT) It creates balance and harmony in different groups.

(IIT) It reduces the possibility of conflict among social groups.
(IV) Power sharing is the essence of democracy.

Options :

(@) L, ITandIII

(b) II, I and IV

(c) L IIandIV

(d) I, IIandIV
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16. Two statements are given below as Assertion (A) and Reason (R).

Read the statements and choose the correct option :

Assertion (A) : Sri Lanka adopted ‘Tamil’ as the official language of

the State.

Reason (R) : The Govt. of Sri Lanka adopted a series of majoritarian

measures.

Options :

(a) Both (A) and (R) are true and (R) is the correct explanation
of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation
of (A).

(c) (A) istrue but (R) is false.

(d) (A) is false but (R) is true.

17. Match column — A with column — B and choose the correct option :

Column — A Column - B
(Subjects) (List)

(I) Banks 1. Concurrent List

(IT) Agriculture 2. Union List

(III) Education 3. State List

(IV) Computer 4. Residuary Subjects

Options :
I 11 m  Iv

(a) 4 3 1 2

(b) 3 4 1 2

(c) 2 3 1 4

(d) 4 2 1 3

18. Identify the administrative level of Indian Government with the help
of the information given in the box and choose the correct option :

revenue with them.

Power shared between Central to Local Government.

2. The State Governments are required to share some powers and

3. Itis called a three tier government.

Options :

(a) Dictatorial System (b) Unitary Federal System

(c) Decentralized System  (d) Imperialistic System

32/4/1
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Which one of the following countries has two party system ?

(a) China (b) Russia

(c) America (d) India

Which type of government is likely to be more acceptable to the
people in the world ?

(a) Democratic (b) Military
(c) Dictatorship (d) Theocratic
SECTION - B

(Very Short Answer Questions)

(A) Explain any two methods that were used by the Europeans for
the recruitment of the indentured labours.

OR

(B) How did the ‘small pox’ prove as the most powerful weapon of
the Spanish conquerors in the mid-sixteenth century ? Explain.

“Agriculture and industry move hand in hand.” Support the statement
with examples.

“Different persons can have different developmental goals.” Support
the statement with an example.

“Women face discrimination in various ways in our society.” Explain
any two ways.

SECTION - C
(Short Answer Questions)

“Ideas of national unity in the early nineteenth century Europe were
closely allied to the ideology of liberalism.” Examine the statement.

Explain any three institutional reforms taken for the development of
Indian agriculture.

How is information technology connected with globalization ?
Explain.

Analyze the need of Political Parties in the Democracy.
(A) Why is ‘Tertiary Sector’ becoming important in India ? Explain.
OR

(B) Why is there a need to protect workers in the Unorganized
Sector ? Explain.

[=]#E =]
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SECTION -D
(Long Answer Questions)

Examine the progress of the Civil Disobedience Movement in
the countryside.
OR

Analyze the ways through which people of different
communities developed a sense of collective belonging in India.

How i1s pipeline transport network important in the transport
system of India ? Explain with an example.

OR
How have physical and economic factors influenced the
distribution pattern of the Indian Railway Network ? Explain
with examples.

“Democracy stands much superior to any other forms of
governments in promoting dignity and freedom of the
individual.” Support the statement with arguments.

OR

“Democracy produces an accountable, responsive and legitimate
government.” Support the statement with arguments.

Justify the role of ‘Self Help Groups’ in the rural economy.
OR

“Cheap and affordable credit is crucial for the country’s
development.” Justify the statement.

SECTION - E
(Case Based/Source Based Questions)

Read the given source and answer the questions that follow :

WHY NEWSPAPERS ?

‘Krishnaji Trimbuck Ranade inhabitant of Poona intends to publish a
Newspaper in the Marathi Language with a view of affording useful
information on every topic of local interest. It will be open for free
discussion on subjects of general utility, scientific investigation and
the speculations connected with the antiquities, statistics, curiosities,
history and geography of the country and of the Deccan especially...

the patronage and support of all interested in the diffusion of

knowledge and Welfare of the People is earnestly solicited.’

Bombay Telegraph and Courier, 6 January, 1849

15 E@j
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‘The task of the native newspapers and political associations is
identical to the role of the Opposition in the House of Commons in
Parliament in England. That is of critically examining government
policy to suggest improvements, by removing those parts that will not
be to the benefit of the people, and also by ensuring speedy
implementation. These associations ought to carefully study the
particular issues, gather diverse relevant information on the nation as
well as on what are the possible and desirable improvements, and this
will surely earn it considerable influence.’

Native Opinion, 3 April, 1870

(I)  Explain the main reason of publishing newspaper by Krishnaji ?

(IT) How was the task of native newspaper and political association
seen identical to the role of opposition ?

(IIT) Analyze the reasons of popularity of newspapers during 19"
century.

Read the given source and answer the questions that follow :
RAINWATER HARVESTING

Many thought that given the disadvantages and rising resistance
against the multi purpose projects, water harvesting system was a
viable alternative, both socio-economically and environmentally. In
ancient India, along with the sophisticated hydraulic structures, there
existed an extraordinary tradition of water harvesting system. People
had in-depth knowledge of rainfall regimes and soil types and
developed wide ranging techniques to harvest rainwater, groundwater,
river water and flood water in keeping with the local ecological
conditions and their water needs. In hill and mountainous regions,
people built diversion channels like the ‘guls’ or ‘kuls’ of the Western
Himalayas for agriculture. ‘Rooftop rainwater harvesting” was
commonly practised to store drinking water, particularly in Rajasthan.
In the flood plains of Bengal, people developed inundation channels to
irrigate their fields. In arid and semi-arid regions, agricultural fields
were converted into rain fed storage structures that allowed the water
to stand and moisten the soil like the ‘khadins’ in Jaisalmer and
‘Johads’ in other parts of Rajasthan.

(I)  Why is water harvesting system a viable alternative ?
(IT) Describe the process of ‘rooftop rainwater harvesting.’

(IIT) Mention any two methods adopted by ancient India for water
conservation.

[=]#E =]
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Read the given source and answer the questions that follow :

Language Diversity of India

How many languages do we have in India ? The answer depends on
how one counts it. The latest information that we have is from the
Census of India held in 2011. This census recorded more than 1300
distinct languages which people mentioned as their mother tongues.
These languages were grouped together under some major languages.
For example languages like Bhojpuri, Magadhi, Bundelkhandi,
Chhattisgarhi, Rajasthani and many others were grouped together
under ‘Hindi’. Even after this grouping, the Census found 121 major
languages. Of these 22 languages are now included in the Eighth
Schedule of the Indian Constitution and are therefore called
‘Scheduled Languages’. Others are called ‘Non-Scheduled
Languages’. In terms of languages, India is perhaps the most diverse
country in the world.

(I) Explain the importance of language diversity in India.

(IT) Differentiate  between Scheduled and Non-Scheduled
Languages.

(ITI) “The fusion of languages has united the country into one cultural
entity.” Explain the statement with an example.

SECTION - F
(Map Skill Based Questions)

(1) Two places A and B have been marked on the given political
outline map of India. Identify them with the help of given
information and write their correct names on the lines drawn
near them.

(a) The place where Mahatma Gandhi started Satyagraha for
Indigo peasants.

(b) The place where the session of Indian National Congress
held in December, 1920.

(i1)) On the same outline map of India locate and label any three of
the following with suitable symbols :

(a) Tehri Dam

(b) Naraura Atomic Power Station
(c) Pune Software Technology Park
(d) Haldia Sea Port

19 5%%
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Note : The following questions are only for the Visually Impaired
Candidates in lieu of question no. 37. (5x1=5)

ATTEMPT ANY FIVE :

(1) Name the place where the session of Indian National Congress was

held in December, 1920. 1
(i1)) Name the place where Mahatma Gandhi started Satyagraha for Indigo

peasants. 1
(ii1)) Name the State where Naraura Nuclear Plant is located. 1
(iv) Name the State where Tehri Dam is located. 1
(v) Name the State where Mumbai Software Technology Park is located. 1
(vi) Name the State where Haldia Sea Port is located. 1

32/4/1 21 Egj [P.T.O.
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AT 7597 :
FHETITIEd 14397 @1 agad a1 @ 9igq 31 371 ] & qIci7 Bl :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

(x)
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39 J¥7-97 4 37 F97 & | @Yt Fo7 A4 & |

T8 Y9797 B: GUS] 7 [9Tf5id 8- @US &, &, W, T, FU o |

GUE & — F7 G 1 & 20 7% FgldHediT Jv7 & | Je4ieh Jo7 1 37 H7 & |
GUE & - §97 G 21 @ 24 377 Tg-ITT J97 & | IIF F97 2 37F H B |
Jcdeh Y97 %7 I 40 Isq] 7 Iofaw |

GUS T — J¥T G&IT 25 8 29 a% TY-IFNT Fo7 & | AP FoT 3 3HFH B 8 |
e Y97 %7 I 60 Isq] 7 Iofea |

GUE g — Y97 &7 30 T 33 FH-371T I97 3 | I9% Y97 5 3% &1 8 | A% Jo7
&7 I 120 I155] § foifEw |

GUE T — Y97 G&I7 34 G 36 G-3RI T97 & | Y9 97 & T 3 — 3 39-F57
g | 5 g% Jo74 37FH HT & |

@UE T H Yv7 &7 37 HEET-SERT 8 | I8 I57 5 37F & 5, Al [ 3lasrg &
(37(%F) - 2 37%) ToT YT (37(@) — 3 37%) & Tafera & |

Jo7-97 § THT W PI3 laheq 781 & | a9ifd, $& Fe41 4 s7an® [deeq /qU T
g 1 08 ¥yl 4 @ &aer v §1 [AdeT %7 IR [o7ET |

3G SR, AAVIHAFER, I9% GUS 3R F97 & 19 I 337 7T 13 § |

Qusg <h

(Fgfarmedta o) (20x1=20)
fEAfeTRad Ugqsti 8 S JEH STawT 1 YR HhIH-91 of ?
(a) Bfe syazen
(b)  HTRfTeh SqEAT
(c) 3k sHawen
(d) Ul s
fefeifad & o SH-H J&ae 998 gl e gRl |t 15 off 2
(a) U (b) 3T Sftem
ORI IHES (d) =
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

(x)

32/5/1

This questions paper contains 37 questions. All questions are compulsory.
This question paper comprises six sections — Sections A, B, C, D, E and F.
Section A — Questions no. 1 to 20 are MCQs of 1 mark each.

Section B - Questions no. 21 to 24 are very short answer type questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

Section C - Questions no. 25 to 29 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 60 words.

Section D — Questions no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

Section E - Questions no. 34 to 36 are case-based questions with three
sub-questions and are of 4 marks each.

Section F — Question no. 37 is map-based, carrying 5§ marks with two parts,
37(a) from History (2 marks) and 37(b) from Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Questions) (20x1=20)

Which one of the following aspects was the base of the Bretton Woods
system ?

(a)  Military system
(b)  Cultural system
(c) Economic system

(d)  Historical system

Which one of the following books was printed first by Gutenberg ?
(a)  Chapbooks (b) Amar Jivan
(c) Bible (d) Almanac

3> Bge P.T.O.
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FefaRad 9 & fohe- 1928 H SRGI | fohEH TG T Adcdl TohaT ?
(a) e qEEg

(b) SO 8E

(c) g9W dg 9

(d) FEANTS 9eH

HEH TR ®9ehi & fowy # f=fafaa & @ 9o 98t 787 3 2
(a) 39! A9 HHISTH o1 |

(b) 3G+ HrEHE s § wnt foram |

(c) I8 TSI Tehdl ol Jdieh o |

(@) 3Thl Sfa et 3R fewel W Afera $i T8 |

& I 1 T HINT |

(a)  IATcepTetE fHaig T — i < TS-a8 Thel W i Il &

(b) & aig Y — Tohel HEA IcTGeh DN h AT &

(c)  aTUIfSTeh HfY — MY TSl 1 AT AT | ITAM BT &
(@) T9or B — yfr & B g R/ H Il

JgSiia 1&g srfefm ke o] feRam T o ?

(a) 1972
(b) 1978
(c) 1980
(d) 1985

INEUE, JeTE R Afeem HF TS H g W0 & &I AU H i@
HIT |

(a) AT =18
(b) @4

(c) At fo=ms
(d) @ "

T 1956 ® U@ oAfufm g sfices d f=fafed & @ @E-t wm
arTfereTives =iy <At 8 off 2

(a) dffre (b) Toeht

Ot (d) IS
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Who among the following led the peasant movement in Bardoli in 1928 ?
(a) Baba Ramchandra

(b) Jawaharlal Nehru

(c) Subhash Chandra Bose

(d)  Vallabhbhai Patel

Which one of the following is not true about the female allegory of
France ?

(a)  She was named Marianne.

(b)  She took part in the French Revolution.

(c) She was a symbol of national unity.

(d) Her images were marked on coins and stamps.

Choose the correctly matched pair.

(a)  Primitive subsistence farming — practised on large patches of land
(b)  Intensive subsistence farming — single crop production farming
(c) Commercial farming — use of higher doses of modern inputs

(d)  Plantation farming — practised on small patches of land

When was the Wildlife Protection Act implemented ?

(a) 1972
(b) 1978
(c) 1980
(d) 1985

Mention the main reason for land degradation in states like Jharkhand,
Chhattisgarh and Odisha.

(a)  Over-grazing

(b)  Mining

(c) Over irrigation

(d)  Mineral processing

Which one of the following languages was declared as the official
language of Sri Lanka by an Act passed in 1956 ?

(a) Tamil (b) Sinhala
(¢)  Hindi (d) English

<5 > Bge P.T.O.
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11.
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o

fafeiaa 8 9 sia-an ey fag ear & for g & sd-a=iw o= 3 2
I. g % I ATk SRl 1 BT

II. oTeh! 59 T99F heg o 918

III. g 3R TSl o o= fowai &1 oue foawo

IV. idl 3R ITd g o I

ICETR I

(a) I, IIARIV

(b) L IISARIV

(¢ ILIMIARIV

(d L II3FRIII

fFr=fiRaa et o @ 9w wd 757 3 2

(a) Efag™ g9 o YR | fru S 91 fore) TohR & WewTa &1 UshdT B |

(b) Hiog gH frdt i g9 & I i, TR 1 I T I i i
HTATE! 4T 2 |

(c) ORI dfggd aiffes Tert o waHa gRfvad w3 & fau s =i
Tfifer AT | @ & 1 AR 1 B |

(d) |fEUH % JFER 98 i FH W TSHIT 9 g 81 fham S Fehat 7 |

3 BT IR (A) 3 HROT (R) o &9 H feu 7w & | ST el ol qfen 3R
I o foTu g2t faemed =1 == hIfST

SYHYT (A) : A H Sgad I AaEdT 7 |
FRU(R): 391 R0 3 fob YRa § gmifSes 3 simiferes fafaygamnd @ |

[EEIS I

(a)  SARTHA (A) 3R SR (R) g1 &1 8 3 SRl (R), HHhaT (A) i
g AT HLAT 7 |

(b)  SAfTHA (A) 3T SR (R) THT T& &, T BRI (R), AW (A) H
HE! AT TgT Hdl 8 |

(c) AR (A) HEl 8, =g BRI (R) TAd 7 |

d) IfEE (A) a8, T SRV (R) T 2 |
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Which one of the following options prove that India is a quasi-federal
state ?

L. More powers with Centre

I1. Residuary subjects with Centre

III. Equal subjects with Centre and States
IV.  Currency and Railways with Centre
Options :

(a) I, IIT and IV

(b) I, IIandIV

(c) I1, ITT and IV

(d I, IIandIII

Which one of the following statements is not true ?

(a) The Constitution prohibits discrimination on the grounds of
religion.

(b)  The Constitution allows us to practice, profess and propagate any
religion or not to follow any.

(c) The Constitution of India allows the state to intervene in the
matters of religion in order to ensure equality within religious
communities.

(d) As per the Constitution, religion can never be separated from
politics.

There are two statements marked as Assertion (A) and Reason (R). Read
both the statements and choose the correct option as your answer :

Assertion (A) : India has a multiparty system.

Reason (R): It is because of the social and geographical diversities in
India.

Options :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

7> Bge P.T.O.
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12. T=fafigd 8 9 w9-91 Alhdite TR & o9 4 8l 787 8 ?
(a)  Alehdiieh TLhHR Y I & |
(b)  <Iohdizer TLhR R Har SR 2§ |
(c)  Alehdifaeh FLHI AN hl TR B |
(d) IE TARET o IR 1 JTH & ool @ |
13. difcrent # feu U 3tferei o1 Ued <hifu 3 oo A <hl 3N9d Af¥es 3™ J1d
SHifce | gl ey =1 == HifSu |
T <M o ANTRERT <hl ATfEeh ST (F9i H)
MEq
1 11 111 IV \Y
%5’ A 10500 9800 9500 10000 10500
%5’ B 6000 6000 6000 6000 50000
IEETR I
(a) 9500 (b) 10000
(¢) 10500 (d) 10060
14. Sfcsm & SEEar & fhaq gfasa & wafys 85 ° ©®d 8 2
(a) 40% (b) 80%
(c) 59% (d) 70%

15. var st fob fFfefaa o & forgent e g wdier 98 51 gehat © | T faehed
ST T HINT
I.  Esh/Msh SHIRAT O qUi gea
II.  SGYUI-Hth qaTeRy
III. 3= TUre areft faren
IV. JHNTHG™h &

ooy
(a) 13RI (b) III3IRIV
(¢ I3IRIV (d) I3RII
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12. Which one of the following is not true about a democratic government ?

(a)  Democratic government is a legitimate government.
(b)  Democratic government is a responsive government.
(c) Democratic government is the people’s own Government.

(d) It does not allow room to correct mistakes.

13. Read the given data in the table and find out the average monthly income

of Country A. Choose the correct option.

Monthly Income of Citizens of Two Countries (in Rupees)
I 11 III v y | Average
Income
Country A | 10500 9800 9500 10000 10500 ?
Country B | 6000 6000 6000 6000 50000
Options :
(a) 9500 (b) 10000
(c) 10500 (d) 10060

14. What percentage of the population of Belgium lives in the Flemish

region ?
(a) 40% (b)  80%
(c) 59% (d 70%

15. Select which among the following cannot be purchased through money.

Choose the correct option :

I. Full protection from infectious diseases
I1. A pollution-free atmosphere

III. High quality education

IV. A luxury home

Options :
(a) TandIII (b) IIIand IV
(c) I and IV (d TandII

32/5/1 <9 > S
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17.

18.
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Jrer & T2 qifceteht H SThsl ohl AT hifST 3T Y99 1 3T T&l foshew i

= o Ty |
HIF-T1 T HE@Ul & g S AN ohl TTUehad USHTR J&H hidl & ?

TTIeTHT — 19197 &7 § HHEIR (e §)

SR LI FEtea T
BIPIEED 1 231 232
ol 41 74 115
GRIRED 40 88 128
T 82 393 475

(a) ATk &eh, faeiyeRt Tifed &k
(b) facliores ames, foswam Tmfea aoe
(c)  TdIFeh &Aeh, TaRIveRt TiTfed &
(d) STfes &=eh, TaRiveRt TEied &

‘A, TG o Teh I 9T i dTel 3TN 1 Th At 3 | 98 Tamed o,
gfesy ffyr, faferean srasprar, enfe St glaamd uma <t 2 |

‘A TfaRad &=ehl § 9 ToraH SRl o @I 2 ?

(a)  Snfies &mep
(b) NI AT
(c) Hifsd &5k

(d)  3TEIfSd &k

T # Fefafad et 4 @ i i) Ae foifud =t g 2
(a) WA shl g TR

(b)  Aifd =
() Tou oo
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16.

17.

18.
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Study the data given below in the table and answer the question by

selecting the correct option.

Which is the most important sector that provides maximum jobs to the

people ?

Table — Workers in different sectors (in millions)

Sector Organized | Unorganized Total
Primary 1 231 232
Secondary 41 74 115
Tertiary 40 88 128
Total 82 393 475

(a)  Primary sector, especially organized sector

(b)  Secondary sector, especially organized sector

(c) Tertiary sector, especially organized sector

(d)  Primary sector, especially unorganized sector

‘A’ is a worker in a garment export industry of Jaipur. He gets facilities

like health insurance, provident fund, medical leave, etc.

In which one of the following sectors is ‘A’ working ?

(a)  Primary sector

(b) Non-Governmental sector

(c) Organized sector

(d)  Unorganized sector

Which among the following organisations issues the currency notes in

India ?

(a) The Central Government of India

(b)  The NITI Aayog

(c) The Finance Ministry
(d) The Reserve Bank of India

<ar>
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19. R BgH 98d €I IgUSE FEH & S YRd H @ d9d hl qe ¥l

3ITICh 3 | I8 Al FHfaRea 7 @ frm e < @ 2

(a) Hd
(b) HE
(¢) e ferem

d) TIH T SR
20. ‘G AR FER ekl 5 Geellentor i Uishat i fHfaiRad § & fhg alieh
g Faiees Uia Rt 7 2
(a) AT o1 do W wgrelt <hl 95w
(b) AT % oI do e YTl hl U5
(c) G < oIl e Harral i Uge
(d) g % QeI o deehial TSI shi Tg=

Qs @

(3t eg-3wiiT wed) (4x2=8)

21. 193 WS H JUY & AN IHNERT TARH F1 HL T ? AR HiT | 2
22. ‘HIYeIRehdl Use & foU g 3 | =amen Sy | 2
23. (%) ‘ol hl TEd & Hofl UG BT 7 || 3 B I gfse i | 2

HAAT
(@) TNUTRAETT Sl & GEEHT BT IGAT HAT THI hH A F=A 2 2 T
hHIfTT | 2
24, T &k H (U TSR FAd e o HI5 gl 3T AT | 2% 1=2
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19. Cargill Foods, a very large MNC, is the largest producer of edible oil in

India. Which one of these countries does it belong to ?
(a) India

(b)  France

(c) Great Britain

(d)  United States of America

20. In which one of the following ways has ‘information and communication

technology’ stimulated the ‘globalisation’ process the most ?
(a)  Access foods across countries

(b)  Access raw material across countries

(c) Access services across countries

(d)  Access information instantly across countries

SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. Why did Europeans flee to America in the 19th century ? Explain. 2
22. ‘Communalism is harmful for the nation.” Explain. 2
23. (a) ‘Energy saved is energy produced.” Support the statement. 2

OR

(b) Why is there a pressing need to use non-conventional energy

resources ? Explain. 2

24. Suggest any two ways to create more employment in the rural sector. 2Xx1=2

32/5/1 13> Bge P.T.O.
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26.
27.
28.
29.

30.

31.

32.

33.
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wus 1

(prg.:ﬁ'ﬂ'q 9q) (6x3=15)
(%) YA ASTGEAT W G 3G o feheal dF JuTEl ol TIC
hINTT, | 3xX1=3
HAAT
(@) WA o &N gRT Ul Uae o1 foiyr fopm wepr foparm mam 2 ff 3ereeon
Tfgd wase HITT | 3x1=3
TRd H UNaEd T8 o 9 H YIUATSAl o Hgwd ohl TI5¢ iU | 3
T H W ShTI o A<eIdd o Al T IS THIE! 1 UM hITIT | 3
“qRETAT chaa <l Tad Tequl famivar 8 | 38 oM 1 gfee hifu | 3
FETEHT o TTlcd o MR W g &k -G 8 2 ITH U YAH hl AT
T | 3
Qs Y
(Srdh-sw o) (4x5=20)
(%) geht o T shi gkt st samen Hifu | 5
HAAT
(@) W9 H T o =R &l 97 A § B i 1 T TR Tg@qul
qfirept fAuTg 2 Tase il | 5
() Taffmio e & g8 &1 e Hifv | 5
HAAAT

(@) STk YGUU i HH H % fohral did UM hl AT HIWT | 5x1=5
(%) YNA ¥ TSI el b a0 Tohrgl qia HICAT hl AT HiT | 5x1=5

HAYAT
(@) TSIl gl o fohrdl UId Tg@ AT ohl SATEAT HIMT | 5x1=5
(%) RO FFE TR ThNICHS TN TohRicHe et Humar g 2 3gewn dfgd
T T | 5
HAYAT
(@) YUYH ROMYR F1 3 ? T§ TSl Dl bl d R oA d Ushd 1 T
I 1 g ? T HINT | 1+4=5
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SECTION C

(Short Answer Type Questions) (6x3=15)

25. (a) Explain any three effects of Non-Co-operation Movement on the
Indian economy. 3x1=3

OR

(b) How was the Rowlatt Act opposed by the people of India ? Explain
with three examples. 3x1=3

26. Explain the importance of pipelines as a means of transportation in
India. 3

27. Describe the impact of flexibility in the labour laws on the workers in
India. 3

28. ‘Transparency is the most important feature of a democracy.” Support the
statement. 3

29. Which are the two sectors based on the ownership of resources ? Explain

each of them. 3
SECTION D

(Long Answer Type Questions) (4x5=20)

30. (a) Explain the process of unification of Italy. 5
OR

(b)  How did the French Revolution play an important role in creating

the idea of the ‘Nation’ in Europe ? Explain. 5

31. (a) Explain the importance of manufacturing industries. 5
OR

(b)  Explain any five ways to reduce industrial pollution. 5x1=5

32. (a) Explain any five challenges faced by political parties in India. 5x1=5
OR
(b)  Explain any five major functions of the political parties. 5x1=5

33. (a) How does credit play a positive and a negative role ? Explain with

examples. 5
OR
(b)  What is a collateral ? Why is it a main reason to prevent the poor
getting a loan from banks ? Explain. 1+4=5

32/5/1 <15 > Bge P.T.O.
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Qs &

(FE-ATATRE TeT) (3x4=12)

few mu 3gror 1 v hifSu 3 3Ees fi9 feu u gt % s fafge

g9 H gcd] ISl el 1854 | o7t 3T T 9T o1 IHH 3IcUed g4 o |
1862 T I&f UHl IR el &M X @ oA | ITH 94,000 TeRfeRT 3R 2,150
H A | I IHF A H 52 el gor @l | 98t <0 A uget S e 1855
H 3R gell 7 | 91 1862 H =L g3 | 3T WRd H U™ fiet 1860 % &
H HEAR | Gl | 39 a0 W I FEHSETE hl Tgail Hhagl U off =1e &
TE | 1874 § Ag™ H oft ygell sharg 3R AT et g 8 |

(34.1) Ugd! Ut e WRa § o Teiud <Al T8 2

(34.2) A % Fp=dl 31 Wity JEvmafiE 3 T fafau | é+é=1

(34.3) WA % &gd ¥ YRl TS HHR & MG Y g ATeh R0

a1 ot forg Iohr 39T R g @ 2 T hIfSu |

few U 3gtur w1 yed Fifvie 3 39 =9 few U yvai o s forfau

IT=F IRd H 3chse e HHAT 6 Sy-H1e S 9UgY e i 9 S
g | A W aut ughd oM g % Ui %k IR H MU FH o7 | IeH T
yriifeufaehia aftfedfadt 3t 3Heh! S STEvIha{aR auiSd, Wi, T4 Sfd
R 91¢ T UG o 3k dlieh fawfad o fu 9 | 1zl it gddiw &= §
At A4 T’ AYar Fo (ufvedt fEmer) St arfgend, € o am w1 e
SRt Wdl § fGa & fou aa18 2 | ufvenft vra, foive Toreem ° 91 &1
A Uehald i o [T “Bd I JTT GUGYT T aiiehl A9 o |

(35.1) WRd H Wh fohu U fohedll @ WOmTa STl WY & ikl Wl Seoid
i |

(35.2) TSEAM o AN IS b1 fohT ThR ITINT hid 2 ?

(35.3) IYISTAA BUEY < fehral &l ATHI hl SUTEAT ShifaT | 2x1=2
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SECTION E
(Case-Based Questions) (3x4=12)

34. Read the given extract and answer the questions that follow :

The first cotton mill in Bombay came up in 1854 and it went into
production two years later. By 1862, four mills were at work with
94,000 spindles and 2,150 looms. Around the same time, jute mills came
up in Bengal, the first being set up in 1855 and another one seven years
later, in 1862. In north India, the Elgin Mill was started in Kanpur in the
1860s, and a year later the first cotton mill of Ahmedabad was set up. By

1874, the first spinning and weaving mill of Madras began production.

(34.1) When was the first cotton mill set up in India ? 1

(34.2) Name any two early industrialists of India. 1 +£ =1

2 2
(34.3) How did many Indian entrepreneurs survive despite tight
economic controls imposed by the British Government ? Explain. 2

35. Read the given extract and answer the questions that follow :

In ancient India, along with the sophisticated hydraulic structures,
there existed an extraordinary tradition of water-harvesting system.
People had an in-depth knowledge of rainfall regimes and soil types and
developed wide ranging techniques to harvest groundwater, rainwater,
river water and flood water in keeping with the local ecological conditions
and their water needs. In hilly and mountainous regions, people built
diversion channels like the ‘kuls’ and ‘guls’ of Western Himalayas for
agriculture. Rooftop rainwater harvesting was very commonly practised

to store drinking water, particularly in Rajasthan.

(35.1) Mention any two methods of traditional water-harvesting used in

India. 1
(35.2) How do people of Rajasthan utilise rainwater ? 1
(35.3) Explain any two benefits of rainwater harvesting. 2x1=2

32/5/1 7> Bge P.T.O.
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36. feu U Igwur w1 vad hifvru 3t 3Ees 9 few muw gwi & s fafEw

Sfes @™ AT T Th DRI-AT I 8, §T%hd § gIR gRATN U9 8 ff B |
gHehl dHW wE, ey, TN 3R deEHeT ¥ @ § | gEehl WS U
HUg T A 31feyer B I fEmon it e @ wiw oneft | IR VW F
THTS 1 S gA1E 95d Sied & | o i HdA AEMGl 1 59 HrEar e
TFATHST 3cATeh B TgaT 8 3R S diatdl 8 | A9 40 B @ Jalf-=n &3 o &d
2 M B9 died 8§ | AT TH HEE A T Sied & | TogE §Eed %
80 HIHE! TN 3 dieid @ 3T 20 B! AN S TN |

(36.1) Sfeoam <hl AT G=AT 1 Tee iy | 1
(36.2) ST 3r6c hl SATEAT iU | 1
(36.3) Sfesrm &t TWHR 7 AT I THEn Hi fhm TR g R ? T
T | 2
Qis Ad
(ATt vt ST wee) (2+3=5)

37. (%) WNA h U T TSI WI-AFRH (I8 23 W) | & ¥IH A 3R B
w9 ¥ cune U g | FefaRga SHe B ggEdr ¥ 3= ggeiET 31
3k H&! 9 Ik gHIT Wil 8 Waret w fafan

(i) 9% TIH ST&f M 3 THeh Hrd el | 1
(i) 98 TIF & IR TS SiE 1 Afeewe R, 1920 § gan
o7 | 1

(@) 9Ra & 3 ToHifde Wr-aFas | Fefafaa @ 8@ 6l &7 &
ST Togl @ gz iR 3 AW fafeu 3x1=3

() -4
(i) IR — HIgA sl @H
(iii) O — GiFeAIR Frnfieht areh
(iv) TAepITE — |G god
32/5/1 %%%




36. Read the given extract and answer the questions that follow :

Belgium is a small country in Europe, smaller in area than the state
of Haryana. It has borders with France, the Netherlands, Germany and
Luxembourg. It has a population of a little over one crore, about half the
population of Haryana. The ethnic composition of this small country is
very complex. Of the country’s total population, 59 per cent lives in the
Flemish region and speaks Dutch language. Another 40 per cent people
live in the Wallonia region and speak French. Remaining one per cent of
the Belgians speak German. In the capital city Brussels, 80 per cent of
the people speak French while 20 per cent are Dutch-speaking.

(36.1) Explain the ethnic composition of Belgium. 1
(36.2) Explain the term ‘ethnic’. 1
(36.3) How did the Belgian Government solve their ethnic problem ?
Explain. 2
SECTION F
(Map Skill Based Question) (2+3=5)

37. (a) Two places A and B have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the

lines drawn near them :
(1) The place where Gandhiji broke the salt law. 1

(ii))  The place where the session of the Indian National Congress
was held in September, 1920. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(1) Tehri — Dam
(ii))  Bokaro — Coal mines
(iii) Pune — Software Technology Park

(iv)  Tuticorin — Sea port
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39 TS 1 T TARaT ST&l qiehii

EEAREERE R

o

5x1=5



Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37. 5x1=5

Answer any five questions.
(37.1) Name the place where Gandhiji broke the salt law.

(37.2) Name the place where the Indian National Congress session was
held in September, 1920.

(37.3) Name the state where Tehri dam is located.
(37.4) Name the state where Bokaro coal mines are located.
(37.5) In which state is the Pune Software Technology Park located ?

(37.6) Name the state where Tuticorin sea port is located.
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General Instructions :

()

(i1)
(iii)

(iv)

(v)

(v)

Question paper contains 37 questions. All questions are compulsory.
Question paper comprises six Sections — A, B, C, D, E and F There are

37 questions in the question paper.
Section A — Question nos. 1 to 20 are MCQs of 1 mark each.

Section B - Question nos. 21 to 24 are Very Short Answer Type
Questions, carrying 2 marks each. Answer to each question should not

exceed 40 words.

Section C - Question nos. 25 to 29 are Short Answer Type Questions,
carrying 8 marks each. Answer to each question should not exceed 60

words.

Section D — Question nos. 30 to 33 are Long Answer Type Questions,
carrying § marks each. Answer to each question should not exceed 120

words.

Section E — Question nos. from 34 to 36 are Case Based Questions with

three sub questions and are of 4 marks each.

(vit) Section F — Question no. 37 is map based, carrying 5§ marks with two

parts, 37 (a) from History (2 marks) and 37 (b) from Geography (3 marks).

(viit) There is no overall choice in the question paper. However, an internal

(ix)

32/6/1

choice has been provided in a few questions. Only one of the choices in

such questions have to be attempted.

In addition to this, separate instructions are given with each section and

question, wherever necessary.
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(srgferepedia )

1. frafefea o1 gafea fifse it a& fasen w1 ==m fiflv |
(Fa) (vaferenn)
(@) Tl () el FgeE
(by ~“gauufER a1 ¥ geet e
(© ERUEed  qrn  fafed e e
(d) HREHE (V) T geetl % T % & A Hon

@ ® © @
A 1 IV I IT
®B) 1II I Iv I
© v IT ITI I

D) 1 IV II III

2. TrfaRed 4 & fore vgen ATHTes FHMER-T= ‘ST ste’ feprer ?
Q) fafmagae
(B) ST TR faeTh
(C) TRTTER Sgrerri
(D) TS UHHEA T
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SECTION - A

(Multiple Choice Questions) (20 x 1 =20)
1. Match the following and choose the correct option. 1
(Leader) (Role)
(a) Victor Emmanuel II I.  Chief Minister of Italy
(b) Guiseppe Mazzini II.  Young Italy Movement
(¢) Guiseppe Garibaldi III. Conquered the Kingdom of Sicillies
(d) Count Cavour IV. Proclaimed as king of Unified Italy
(@) (b) (© (d)
A) I v I11 IT
B I I v 11
© 1V II I11 I
O 1 v IT III1

2. Who among the following brought out ‘Bengal Gazette; the first weekly

newspaper ? 1

A4)
B)
©)
D)

32/6/1

Bipin Chandra Pal
Bal Gangadhar Tilak
Gangadhar Bhattacharya

Raja Rammohan Roy
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3. 1840 ¥ 1860 % &= $icis H {o7dl o & o &1 feAfaiiaa o & & |1 3ar 91 7
(A) <& 3R 38
(B) ¢ 3T FHuT
(C) uegfHf=g 3R STeTse

(D) st 37 38T

4.  FOf= A 199 sraredt ® sufest 7 = MU 7 fefafea fasmed § @ @t wro 6
A HITT :

(A) T 3R sETiEt

(B) €H & @M AL
(C) Wit shifd & s= b fow
D) Toraa™ g = ufom @y

5. Tafafagd SHerl 6 Te=ar @ wEe 6 ugeH I

o U TH T WEGEAR |

o TEIFHHEAR |

o  TH [oTU 3= ATUHH TR STk STIEdT 1 STTavaehal Bidl 2 |
o TH® fT 100 cm ¥ 3tfires a1fifen i shi STavashar gt @ |

forea :
A T (B) TaH
OBEIC D) SR
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3. Which of the following industries increased with the expansion of railways
in England from 1840s to 1860s ? 1

(A) Iron and Steel
(B) Jute and Cotton

(C) Aluminium and Bauxite

(D) Copper and Steel

4.  Why did Europeans flee to America in 19th century ? Identify the correct

reason from the following options : 1
(A) Poverty and diseases

(B) Due to gold rush

(C) To escape from the French Revolution

(D) As an aftermath of the Vietnam War

5. Identify the Crop with the help of the following information and choose

the correct option. 1

. This is the staple food crop.
. This is a Kharif crop.
. It requires high temperature and high humidity.

. It requires above 100 cm of annual rainfall.

Options :
(A) Wheat
(B) Maize
(C) Rice
(D) Jwar
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6. TY-A %1 @H-B & 9 fire  HIifSu 3tk w2 faered =1 =94 hifw

W - A w9 -B

() C))
I " 1. TEREIR
1. e 2. EUDS
1. <& 3. HO™
V. e 4. YA HER
forepea :

I I IV
@ 4 3 2 1
® 3 4 1 2
© 2 1 4 3
M 1 2 3 4

7. frfafead @ wn argm gafea ?
@A) Seefigt  ufved aeem
(B) wrefifig 3Tl AeE
(C) I gt TRl %1 T8I
(D) weusefiagl  wfvenfiame

8. TrAferiaa eenati o & i i “forver fereprar Rl M et @ 2
A fawas®
(B) 3faUg gg1 h 1
(C) o w@mee wreq

(D) FAUET 51 TS
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6. Match the Column — A with Column — B and choose the correct option :

Column - A Column - B
(River) (Dam)
I. Mahanadi 1. Sardar Sarovar
II. Narmada 2. Hirakud
III. Chambal 3. Salal
IV. Chenab 4. Rana Pratap Sagar
Options :
I II I11 v

A 4 3 2 1
B 3 4 1 2
© 2 1 4 3
D 1 2 3 4

7.  Which of the following pair is correctly matched ?
(A) Alluvial Soil Western Rajasthan
(B) Black Soil Northern Plain
(C) Arid Soil Deccan Plateau
(D) Laterite Soil ~ Western Ghats

8.  Which one of the following organizations prepares the ‘World Development

Report’ ?

(A) World Bank

(B) International Monetary Fund
(C) World Health Organisation

(D) International Labour Organisation
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9. Feferlan & & A s ) gt arenT e S @ o 7
(A) TS JTERT
B) et smEm
(C) Toafarera 3geH 3
(D) T I T I

10. 9 <ifST fop weh T &= ° IR afer § | afe 39 ufEri i 3 sus 26,000,
% 4,000, T 7,000 31 T 3,000 & d1 39 & 61 3 31 41 20 ? &l qehed 1 =2
FHifeTT |

(A) 5,000
B) 3,000
(C) 2,000

(D) 6,000

11. fr=fafea § 9 #9 o1 wr S % T ws yge @ 2 59 98 e sguge o 5
T1 THreteRt 3eaTer S 7l ?

(A) UL HUH T HUTT Bl 97 T TNfeh! T i & |
(B) T U % g Bl HH B b {10 TEUER B Teft foofar oreft 2 |
(C) TgUEH -l sl & Icqre o foTu T huft & Tt I Tl 2 |
(D) SEUYR S, T ot & o SR s fraer & fore hadi 2 |
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9. Which one of the following is the preceding Government Agency of NITI
Aayog ? 1

(A) Planning Commission
(B) Election Commission
(C) University Grants Commission

(D) Union Public Service Commission

10. Assume there are four families in a locality. If the income of each family is

% 6,000, ¥ 4,000, X 7,000 and % 3,000 then find out the average income of

the locality from the following options : 1
(A) 35,000 B) 3,000
(C) 2,000 D) 6,000

11. Which one of the following is a major benefit to a local company which

goes for joint production with an MNC ? 1
(A) MNC provides Money and Technology to local company.

(B) MNC takes all decisions to reduce burden of local company.

(C) MNC purchases all shares of local company for faster production.

(D) MNC might ask for labour and capital investment from local

company.
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12. fTafafga @ @ wm @ ergafaa @ 2
(A) Wt &meh  HTERR
®) famsams @
(©) ik &
(D) fafmiwess @

13. Trfafega & @ 1 =t ve srafsa & i rfafafa 2 2
(A) ThA T UGH T Teh frereh |
(B) < @M H HH Hid FTcAT Teh Hu=R] |
(C) 3T H SeATSl hid oTcAl Ueh ik |

(D) IHhER o I T H AT T fegTe! worgt |

14. frafafea & @+ @@ gg@a 9@l § s=d 3R w01 fafaferi & geg 3 fofr o
27

(A) Tordt Sisp 1 TaESH
(B) TR-TTHTH TEAT & TG
(C) =T |Tgsh R

(D) I FEHAT 9HE % qe
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12. Which one of the following pairs is correctly matched ? 1

(A) Primary Sector —  Money Lender
(B) Secondary Sector —  Priest
(C) Tertiary Sector — Bank
(D) Manufacturing Sector —  Gardener
13. Which one of the following is an activity of the unorganized sector ? 1

(A) A teacher teaching in a school.
(B) A worker going to work in a big factory.
(C) A doctor treating patients in a hospital.

(D) A daily wage labourer working under a contractor.

14. Who among the following takes the decision regarding saving and loan

activities in the Self Help Groups (SHGs) ? 1
(A) Manager of a Bank

(B) Members of Non-Governmental Organisation (NGO)

(C) Local Money Lenders

(D) Members of Self-Help Group (SHG)
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(C) I3RIV
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15. Consider the following statements on Power sharing and choose the

correct option. 1

I. Imposing the will of majority community over others.

II. It helps in reducing the possibility of conflict between the social

groups.
III. Power sharing is a good way to ensure the stability of political order.

IV. It brings socio-political opposition among parties.

Options :
(A) TandIII (B) 1II and III
(C) TandIV (D) TandII

16. Two statements are given in the question below as Assertion (A) and

reason (R). Read the statements and choose the correct option. 1

Assertion (A) : Political Parties are important in the functioning of

democracy.

Reason (R) : The media plays an important role in the making of

Political Parties.
Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of
A).

(C) (A)1s true, but (R) is false.

(D) (A) is false, but (R) is true.
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Q) =
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I  9Rad 1S snferehries or T2 2 |
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17. Match Column — A with Column — B and choose the correct option.
Column - A Column - B
(Subjects) (List)
I.  E-Programming 1. Concurrent List
II.  Police 2. Union List
III. Education 3.  State List
IV. Defence 4. Residuary List
Options :
I II I11 v
A 4 3 1 2
®B 3 4 1 2
© 4 1 3 2
O 4 2 1 3
18. Which one of the following countries have One Party System ?
(A) China (B) India
(C) Pakistan (D) America
19. Read the following statements and choose the correct option :

I.  There is no official religion in India.
II. Communities have freedom to profess and practice their religion.
III. State helps communities by giving aid to educational institutions run
by them.
IV. India believes in theocracy.
Options :
(A) I,IIand III B) L IIandIV
(C) IIL IIT and IV D) L IIandIV
32/6/1
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20. Trafafea & @ fra oo 6 wfa dae & ufgenst w1 wfaffuca qew s 2 1
(A) =

(B) sfegferan
(©) e

(D) wRd

wuug -« (4x2=218)
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21. 1832 1 ‘FEGAGHAT h Gl F FFH ThR A ! Teh Taa TP o € H H=IAT & 7 T
FHIT | 2

22. (a) MW % IYHGHIHT % fIT YR TSR gRT fohu TTu Foredl @1 sl <At =ame

FHINT | 1x2=2

e
(b) TSty kg bl Teregil < fermrwaai <At same ity | 1x2=2
23. 9Rd H TSfceh ol bt WT=IdT o Haiel § AT ST <l JfHeht sl T8 ShIfT | 2
24. TTHIOT &= | 371k USHTR ha Ser fopd ST Hehd @ ? IeTetul dfgd w8 shifau | 2
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20. Which one of the following countries has the highest representation of

women in their National Parliament ? 1
(A) Russia

(B) Australia

(C) Sweden

(D) India

SECTION - B
(Very Short Answer Type Questions) (4x2=218)

21. How did the ‘Treaty of Constantinople’ of 1832 recognize Greece as an

independent nation ? Explain. 2

22. (a) Explain any two efforts taken by the Government of India to

modernise agriculture. 1x2=2
OR

(b) Explain any two features of Rabi cropping season. 1x2=2

23. Explain the role of Election Commission regarding recognition of Political

Parties in India. 2

24. How to create more employment in rural areas ? Explain with examples. 2

32/6/1 E E P.T.O.



25.

26.

27.

28.

29.

30.

Qug -1 (5 x3=15)

(9378 w9A)

ThTHTE Shifd T ZU1 TEahl o fohmal oftF Tl shi k@ i |

(a) BH T I ATIR F1 had & 7 T HIT |
Jrerer

(b) Tk 3Tdeh forenTa T Ufterg o Wexa 1 =3 HIfVy |

0T < STTETRER TR ST Sl § 3T &8 HIfT |

‘MY feh A SHATEATST H T 3h! WTRHGH T T H &1 Hebdll @ | 38 HUA i qf¥
HIT |
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HIT |
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Tfgd = HIfT |
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25.

26.

27.

28.

29.

30.

SECTION - C

(Short Answer Type Questions) (bx3=15)

Examine any three effects of Print culture on the French Revolution.

(a) Why do we call Tourism as a Trade ? Explain.

OR

(b) Explain the importance of Transportation in the economic

development of the country.

Distinguish between formal and informal sources of credit.

“In modern democracies, power sharing arrangements can take many

forms.” Explain the statement.

Why is the issue of sustainability important for development ? Explain

with examples.

SECTION -D

(Long Answer Type Questions) (4 x5=20)

(a) How did the Business class relate itself to the Civil Disobedience

Movement ? Explain with examples.

OR

(b) ‘Workers of Assam had their own understanding of Mahatma Gandhi

and the notion of Swaraj.” Explain with examples.
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31. (a)

32. (a)

33. (a)

How can the industrial pollution of fresh water be reduced ? Explain
with examples. 5
OR
(b) “The economic strength of a country is measured by the development
of manufacturing industries.” Explain with examples. 5
Why is Democratic Government considered as Legitimate
Government ? Explain. 5
OR
(b) How is Democracy a better form of government in comparison to
dictatorship ? Explain. 5
“Liberalisation of foreign trade and foreign investment policy have
shown far reaching changes in India.” Support the statement with
suitable arguments. 5
OR
(b) ‘Among producers and workers, the impact of globalization has not
been uniform.” Support the statement with suitable arguments. 5
SECTION - E
(Case Based Questions) Bx4=12)
34. Read the given source and answer the questions that follow : 4

INDUSTRIAL DEVELOPMENT

By the first decade of the twentieth century a series of changes affected the

pattern of industrialization in India. As the swadeshi movement gathered

momentum, nationalists mobilised people to boycott foreign cloth. Industrial

groups organised themselves to protect their collective interests, pressurising

the government to increase tariff protection and grant other concessions.

From 1906, moreover, the export of Indian yarn to China declined since

produce from Chinese and Japanese mills flooded the Chinese market.

So industrialists in India began shifting from yarn to cloth production.

Cotton piece goods production in India doubled between 1900 and 1912.
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gt forva gg e Senfirs T ofiur @1 | 35 3 v footgper =t feufa Ter e oft |
forfest @™ 1 A1 FELAl ST U A 6 70 g Taef 3caTeq § = o gHfere wid |
FIeRet % HIST 1 TR W Bl T | WA STSTRT <l TAid Ueh foremmet ¢eft aTeiR firey
T | gg e Ra=n df qRdtE Rt 8 oft wie % fore e Y Sifat, wite & faw adt
% IS, 02 3TN THS & T, Ul 9 W hl S qT §Igd TR 31 TTHH S o | ¢
HRGH T T |

I SHIEH s Tl H Toi 71 | 9gd IR A AU bl HIH T T 71 IR & i
Tgel 8 oft ST T qoh HTH BT TSl AT | TG o S STTfiTeh IcdTe asit 8 9T |

(34.1) TR TG R AT ?
(34.2) A H Hfl S 1 3cded 1900 § 1912 < S A1 1 &1 T ?

(34.3) Tl <t wreatt Y = i fS=iH TRd 1 IF: 19 916 3 J Jger
w7

35. feu T Ea @i ufeu 3 36 i fow e i & s fafaw |
[T 3T TRET0T

T FRETUT <hY AT FHR < H hIS S 914 AL & | 7 FHAR W IH 91 F I ¢ b a1
TR W | BB TS ISt o ST oft § | WRA % o & a1 W e T
rferepTicEt o @ fireteht 3o 3TTeTd Trelt o el § 92 & e sl @ € defehrer |
IThT FTATIHATT 1 Ifd 2 Tehct & | Tl Sra fied | ToRe™ o a6 A g
Sfra wegrr srfrfam & qgd 98l @ @ B g S % [0 JuWd & | S & o
T T S ST STTATET % T8 TR § ST R Y 3R H gEar ot wieer Td @
& | TSI o 3TeTaR f7et § 5 711all o ST A @ 1,200 TR o 9 Sied STehd Figdl’
i ot & e 3o € Frem s 8 S Reer afita st & e e« <6l gt
A Tgl & a7 Sfie Sl T=ma § |
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Yet, till the First World War, industrial growth was slow. The war created
a dramatically new situation. With British mills busy with war production
to meet the needs of the army, Manchester imports into India declined.
Suddenly, Indian mills had a vast home market to supply. As the war
prolonged, Indian factories were called upon to supply war needs : jute
bags, cloth for army uniforms, tents and leather boots, horse and mule
saddles and a host of other items. New factories were set up and old ones
ran multiple shifts. Many new workers were employed and everyone was

made to work longer hours. Over the war years industrial production

boomed.
(34.1) What was the Swadeshi Movement ? 1
(34.2) Why did the Cotton piece goods production in India double
between 1900 to 1912 ? 1
(34.3) Explain any two events that helped India to regain its market. 2
35. Read the given source and answer the questions that follow : 4

COMMUNITY AND CONSERVATION

Conservation strategies are not new in our country. We often ignore that
in India, forests are also home to some of the traditional communities. In
some areas of India, local communities are struggling to conserve these
habitats along with government officials, recognising that only this will
secure their own long-term livelihood. In Sariska Tiger Reserve,
Rajasthan, villagers have fought against mining by citing the Wildlife
Protection Act. In many areas, villagers themselves are protecting
habitats and explicitly rejecting government involvement. The
inhabitants of five villages in the Alwar district of Rajasthan have
declared 1,200 hectares of forest as the Bhairodev Dakav ‘Sonchur?,
declaring their own set of rules and regulations which do not allow
hunting, and are protecting the wildlife against any outside

encroachments.
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(35.1) o TG ¥ HH Faferd g ? 1

(35.2) ‘T Sia GreTor A’ o 32T Y =TE HIfT | 1
(35.3) o= Stdl % WO o ¢ T FhH T 1 T & & ? IS0 Higd @
SHifeTT | 2
36. feuu Ed w1 ufeu 31t 3ues = few e g1 w1 3o fafge 4
WRA ¥ feradiamon

T T ol I8 Tl SeEAT G 1 SATehaa 1 TS qeh I T8 §S1 AN ¢ |
TR W H TRATARIS 3R TH-I=RIGl & fIC w9 36 A1@ ST 1 919 8ial & | I8
T | T AT § g F FE QM AT HA STEIE H SAGT B | TIHT FEHR Bl
T oot U I 9 TR Tt ciehad i oS 31 Ugd 7S 3 | 3EY WiEensi
gaffires se™ % @1t & gAR olishds § Ieh! STTATS! ! ASEd fhaT 8 | TETET, 39 qelh
Srergg aneft oft 3res et e 2 | gt % g a1 fafid w9 @ 8 2 e
o 3caTE © 39 e oft o & <feh T mernat <t saeh frrarfira w9 @ et @ |

(36.1) WRAH ferehg 1ohT0T ol TATehasl H ToE ST TAT = HFT ST & 7 1
(36.2) NG § T TTHR sl GATeh fRufd o fhd TehR liehast 1 €l &1 3T T80
T H g i g 7 faweryo Hifvw | 1

(36.3) WA TR g Terehsiiohtur o foTu 33T W, feohsil &1 Sumil <Y = Hifve | 2

Qug - d (2+3=5)

(At snenfia we)

37. (a) WA < feu U Tifen {@T-aHied W& TIH (A) 3R (B) 1 31fha fran T 2 |
& T8 BT T TEHAT A 3% URETHT 3T 3ok Ird Wi 72 @it W 3 qal
T fefEu | 2

(A) T8 I & 1927 T YA TR HIUE 6T TR g7 o7 |
(B) 98 T ST&T HRTeHT et F THeh T qrgl o |
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(35.1) How are forests related with Communities ? 1
(35.2) Explain the aim of ‘Wildlife Protection Act. 1

(35.3) How are communities working for the conservation of Wildlife ?
Explain with example. 2

36. Read the given source and answer the questions that follow : 4

DECENTRALISATION IN INDIA

This new system of local government is the largest experiment in
democracy conducted anywhere in the world. There are now about 36 lakh
elected representatives in the panchayats and municipalities etc., all over
the country. This number is bigger then the population of many countries
in the world. Constitutional status for local government has helped to
deepen democracy in our country. It has also increased women’s
representation and voice in our democracy. At the same time, there are
many difficulties. While elections are held regularly of Panchayats and
people participate enthusiastically in it but meetings of gram sabhas are
not held regularly.

(36.1) Why 1is Indian decentralisation considered as the largest
experiment in democracy ? 1

(36.2) Analyse how constitutional status for local government has helped
to deepen democracy in India ? 1

(36.3) Explain any two steps taken by the Indian Government for
decentralisation. 2

SECTION - F
(Map Based Questions) 2+3=5)

37. (a) Two places (A) and (B) have been marked on the given political outline
Map of India. Identify them with the help of given information and
write their correct names on the lines drawn near them. 2

(A) The Place where Indian National Congress Session was held in
1927.

(B) The place where Mahatma Gandhi broke Salt law.
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(b) XA % 3 W@ A | fEfafiea § @ fel @R w1 Iwgw Rl g sifea
Shifore 3R ek T ferfia 3

Q)  sfew meft sTRidia gamssTE
(i)  SPTRUIRT TTHTY Fall T
(iii) YU AT Fraifieh! ureh

(iv) IS LT TTH

e : FrafaRea v wae givafom adenfi=i & oo aR T 37 F @M WE L (5x 1=5)
fergl et we1 o 3o farfeT |

(37.1) 3| T &1 AW ferRaw gt vt g Sie arferasm 1927 1 gt o | 1
(37.2) 38 ¥ 1 A1 fofaw STaT watent Mt 5 FHeh I et o | 1
(37.3) 39 WU 1 T faRaw sref sfen meft st e srer fRa | 1
(37.4) 39 TST 1 19 fARaT STt sHreptramr arHm] T fem 2 | 1
(37.5) 38 USH o1 I {IRgT el getrae Hiwzaaw Sereisl wreh fed & | 1
(37.6) 3| UST o1 19 foaRaw <&t sieet wqgl wa= fRra 2 | 1
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(b) On the same outline Map of India locate and label any three of the
following with suitable symbols. 3
(1) Indira Gandhi International Airport.
(1) Kakrapara — Atomic Power Station.
(i11) Hyderabad — Software Technology Park
(iv) Kandla Sea Port

Note : The following questions are for the Visually Impaired

Candidates only in Lieu of Q. No. 37. (5x1=5)

Attempt any five questions.

(37.1) Name the place where the session of Indian National Congress

was held in 1927. 1
(37.2) Name the place where Mahatma Gandhi broke the Salt law. 1
(37.3) Name the city where Indira Gandhi International Airport is

located. 1
(37.4) Name the State where Kakrapara Nuclear plant is located. 1
(37.5) Name the State where Hyderabad Software Technology park is

located. 1
(37.6) Name the State where Kandla Sea Port is located. 1
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